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WEEK TEST 2, MARCH 2024
TNPSC PREVIOUS YEAR QUESTION TEST - 2

1.  Who was the first scholar to use the term ”"Indus Civilization”?
a. Mortimer Wheeler b. Dr. Prannath
c. Morris J. Spivack d. Sir John Marshall
e. Answer not known
Fbg Brefabd 6aim uTTHmHml LWeUBSHSHW (PpHed DINSlEhT wimT?
a. LmgLo efeur b. weereu LIFETSH
c. Guomferd J. edileunsd d. g7 ogmem OTTAOYED
e. aleL Ogflwalsoemev

2. The Indus Valley Civilization, people had a trade contact with
1. Central Asia Mesopotamia
2. North Eastern Afghanistan
3. Gujarat and Baluchiston
4. Persia
a. (1) only b. (2) only c. (3) only
d. (1),(2),(3),(4) e. Answer not known
Fbxl Fwelell HH6T 6lhd BTHBEHL T eUTenIL QBT OBTERIYHHBHTTHEN
1. wHHW FAwr GauGLmdlwr
2. ULBDSHEG IBTENEr0HT60
3. GQPTSH OBEBID L& FlerdgHTent
4. ungfsd

a. (1) w @w b. (2) wi (B c. (3) w G
d. (1),(2),(3),(4) e. alewL  GEfweailsdemev

3.  Match the following Indus Valley Civilization, Geographical Area with the

Settlements:

Geographical Area The Settlements

A. West 1. Alamgirpur

B. North 2. Daimabad

C. South 3. Shortugai

D. East 4. Sutkagen-dor
A B C D

a 4 3 2 1

b 1 2 3 4

C 4 2 1 3

d 2 4 3 1

e. Answer not known

Fbzx BrefashdHar SmwallSHmHuD Guilmliysamenuin CuIT[HSHSHIH:
1 | PageAPPOLO STUDY CENTRE PH: 044 - 24339436, 42867555, 9840226187



Yaluluied Sjenioaill b Glouil(pLiLsei

A. GuBa 1. &Le0&TYT

B. auL&o 2. SHLOTLTS

C. G356 3. e Gens

D. dwsE 4. & asn1exe@aHmiT
A B C D

a. 4 3 2 1

b. 1 2 3 4

C. 4 2 1 3

d. 2 4 3 1

e. allewL  Ggflualsvenso

4.  Match the following

A. Mahabaladhikrita 1. Commander of the Cavalry

B. Mahashvapati 2. Commander in Chief

C. Mahapilupati 3. Chief Justice

D. Mahadanda Nayak 4. Commander of the elephant force
A B C D

a. 4 3 2 1

b. 2 1 4 3

C. 1 2 3 4

d. 3 2 4 1 e. Answer not known

QUTHSHSIS

A. wsTUTeH B(HSHST l. ®Fewy umL Henugl

B. wameveaung) 2. UL SSH6MLS)

C. wasmigug 3. BMeVeMID HHLIL

D. wargemi B 4. WreneLILIeHL S 6L
A B C D

a. 4 3 2 1

b. 2 1 4 3

C. 1 2 3 4

d. 3 2 4 1 e. el GaMualevemev

5. Match the List I with List II and choose your answer from codes given below:

List (Person) List II (Titles)

A. Arya Bhatta 1. Newton of India

B. Skanda Gupta 2. Hero of Asia and Europe

C. Chandra Gupta II 3. Destroyer of the Sakas

D. Kalidasa 4. Shakespeare of India

S8 Gamhsasiu’ L auflws [ wBspib auflvs 1 91 Leaumentenws QUTHEHSIH:
auflemg [ (buiT) aufens II (ulLwb)

A. gyflwia’ e 1. @pgHwreler Blupl L e

B. eaba@lisT 2. spFw oppid MGrmiumeler an3Gym
C. @yewiLmd FhHATSLIST 3. FTHTHMEN DI SHHeUT
D. srefgnat 4. @pFwrealer CagdberoLiiwiT
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alenL Gz fwealsvenev

6. Arrange the chronological order

1. Death of Humayun 2. Second Battle of Panipat
3. Building at Fatehpur Sikiri 4. Proclamation of Din-illahi
a.2-1-4-3 b. 1-2-3-4 c. 3-4-2-1
d. 4-3-2-1 e. Answer not known
SDHEWILaIBenB HT6V eUflenFLILIHHHIS
1. amromulefer @Bl 2. @yewiLmbd umeiul Guimi
3. uBsLT Fafl sl LiubsHed 4. Heo1 Qevranl WFHD SPadliy
a.2-1-4-3 b. 1-2-3-4 c. 3-4-2-1
d. 4-3-2-1 e. alewL OxfNweaisbensv
7. Assertion (A) : The Third Battle of Panipat in 1761, paved the way
for the rise of the British Power in India.
Reason (R) : The defeat in the battle dealt a severe blow to the

Marathas and the Mughal empire.
(A) is true, (R) is the correct explanation of (A)
(A) is true, (R) is false
Both (A) and (R) are false
(A) is true, (R) is not the correct explanation of (A)
e. Answer not known
FBul (A):epemrd urteiul Gurm oumsGowfer HIFSTT 6(WFFHE afeuGSHBH.
aryenid (R): @568xhme0al  OITHHWHSESGD, (PHOTWHSSGWD @ LNSHSH DIgenUIdh
Cs1HSHSH I
a. Aapmy sl R ameob ge@pplesr gfwmer alenssd Su@D
b. A gpm gfl R srgenid sHeum
c. Aapp wppib R smyenid seupmerene
d. Agpm &M, Rameid gappler sflwmer alendsld 916060
e. alewL G fwailsvenso

a.
b.
C.
d.

8. Which one of the following incorrectly paired?

a. Mirabai - Maharastra
b. Chaitanya - Bengal

c. Ramananda - Prayag

d. Namadeva - Maharashtra

e. Answer not known
BIPHBHEMILUBBIGTEN 61H HUBTHL GUTHSHSHLILIL (BHeiTeng)?

a. ugmumul LOBTTTORUQTLD
b. ewgmeui - QUBIBITEITLD
C. GUmOTEHSIT - Lywiné

d. mmoGxeul - OB TARQYT

e. alewL. Gaflwailsdenso
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9.  Consider the following pairs:

L Rukmani Devi Arundale - Kalakshatra
II. Ravi Shankar - Sangeet Natak Academy
II. ~ M.S. Subbulakshmi - Ramon Magsaysay Award
IV.  J. Krishnamoorthy - Bharat Ratna
Which of the pair given above is/are incorrect?
a.Iand IV only b. II only c. Il and IIT only
d. IV only e. Answer not known
CaTBHBLILL BelTen enaniseiled 6igl / eenal HeauBTaemal 616l GBIILIHE.
I. (paeml Cxal ©imHemtBL 60 - TGRS
II. gai FmisT - MBS BTLSH FeoLl
III. emb.etord. &LILj60L GO - JmweT &HFTCF el
IV. Gx. AmegencpTsHsd) - ungg JHeT
a. [ ompd IV ol Bib b. II i G c. [T wmud I 1o Hid
d. IV ol G e. alewL GFHflwelsveneo
10.  Buddhist poet Asvaghosa wrote ‘Buddha Charita” in language
a. Prakrit b. Pali c. Urdu
d. Sanskrit e. Answer not known
Usd salehT SeroauBsradt “Ubs Fflws” mw OLomPluiled er(pgleorit
a. LgmamsLb b. umed C. 2 (hg
d. Fwedd (LD e. allewL Oz fuielsdensv

11.  Regarding the Indus Valley Civilization, consider the following statement.
1. It was predominantly a secular civilization and the religious element though
present did not dominate the scene.
2. During the period, Cotton was used for manufacturing textiles in India.
Which of the statements given above is/are correct?

a. (1) only b. (2) only c. Both (1) and (2)

d. Neither (1) nor (2) e. Answer not known

Fbzx Fwbeued BTHfsd UBPW Shbeemi Fapmupled 61gh Filwmer FmBpiIBemend CaHiTey
GCguis.

. B3 WHSOLWTS HFFTTUBD BTHfswrses  sSTeoiulLg. Gweld & HHH 6
FBIBH6T HHSTEVILD LOFHOTeTH @ CUIHID FUPHTWLSHHL DLHHITLOEHH6T606M60.
2. @FamedhHe0  maelldh OCaThiBaremen o musHHuled  UmSHFH  (WPpHHW  LmIG

U HBDI-
a. (1) ' @G b. (2) LLGD . (1) WHBID (2) SFeHED
d. (1) wBpd (2) BTG Bedenev e. alowL Oz fNuelsvensv

12.  Match the following:

Indus Sites Excavated by

A. Chanhu-Daro 1. Suraj Bhan

B. Lothal 2. N. G. Majumdar
C. Banavali 3.S.R. Rao

D. Mitathal 4. Bisht
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A B C D
a 2 1 4 3
b 2 3 4 1
C 1 3 2 4
d 1 4 3 2
e. Answer not known
QuUT(HSHHIS:
Fbzxl Fwbeuel HBIMHISET SIBLPUTTTUIEF HIT6TT
A. sFeian>-grCym 1. &Ugy umes
B. Gsurgzed 2. eT6n.eg. LoEgPLDGHTIT
C. uemeuer 3. 6ler0. YT, Jmel
D. 10 Lrge0 4. Vedl
A B C D
a 2 1 4 3
b. 2 3 4 1
C. 1 3 2 4
d. 1 4 3 2
e. alewL Gafwealsvenso

13.  Which of the following was the Port City of Indus Valley Civilisation?

a. Lothal b. Harappa c. Kalibangan
d. Larkana e. Answer not known

Uesteumeueioummier Fbgl Folevel BrafasHdHler Henpps BSID 6157

a. BGeurdged b. emylwm C. HeILIMBIGH6T
d. evirasmeom e. alewL Oxfwaledenso

14. Who erected the non-rusted Iron Pillar in the Qutb Minar complex at Mehrauli?
a. Samudra Gupta b. Kumara Gupta I c. Chandra Gupta Il
d. Vishnu Gupta e. Answer not known
QaBymeiuled GBINOSITT  eUeMTHHH60 © 6o HIHLILNGSSTH  E\(HLOLISHHITEN 60T
SIMLOGHHAUT WMT?
a. FWPHHT GLIST b. waemd @G0Ty GUST C. BIWILTD FHAT GLUST
d. alasem GLIST e. el GaMualedemev

15.  Match the following
A. Rig Veda 1. Sacrificial formulae
B. Yajur Veda 2. Hymns
C. Sama Veda 3. Spells and Charms
D. Atharva Veda 4. Chants and Melodies
A B
a 1 2
b. 2 1
C. 3 4
d
e.

=N R WA
N R W

4 3
Answer not known
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&8 2 siteneuBenm CUM(HGHHIS.

A. Mg Geusld 1. wrslb QFUIpens

B. weget Geugid 2. HTHSHMEH6I

C. gmo Geumid 3. Mh&FHD

D. aiziteu Gougld 4. UTL6LE6T LOBMID GILD6LIENFH6IT
A B C D

a 1 2 3 4

b. 2 1 4 3

c. 3 4 2 1

d 4 3 1 2

e. Answer not known

16.  Match the correct classification of land during the Gupta period.

A. Kshetra 1. Waste land
B. Khila 2. Cultivable land
C. Aprahata 3. Habitable land
D. Vasti 4. Forest land
A B C D
a. 1 2 3 4
b. 4 2 1 3
C. 2 1 4 3
d. 3 4 1| 2

e. Answer not known
GLIST STLSHHE HlevmIBM6T SPSBMILUBBIL 31 FAWTS CUTHSHBS.

A. Gzgyr 1. sfla mlevd
B. &eor 2. Geuenmemienod@ 2 _&bhdH HlevLD
C. apsst 3. GRUWIBLUSBE 2 &bHFH HevlD
D. suerdg) 4. euen [Hlevld
A B C D
a 1 2 3 4
b. 4 2 1 3
C. 2 1 4 3
d. 3 4 1 2
e. alenL  Gafwailsvenev
17.  Match the following:
A. Varahamihira 1. Physician
B. Kalidasa 2. Lexicographer
C. Amarasimha 3. Sanskrit poet
D. Dhanvantri 4. Astronomer
A B C D
a. 4 3 1 2
b. 4 2 1 3
C. 4 3 2 1
d. 3 4 1 2
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QUTHSHHIS.
QUITHLO ST
BTN SHTEFT
Iy FbamT
Sesreub I

A

4

4

4

3

e. allewL  Ggflualsvenso

LD(bSHSBl6u
SIBITHUIWIe0T
FLDEOS|(HG  LJ6VeUT
auTelled SIlEhT

SNwx
N = wNgs D

o op
B W N W g

C
1
1
2
1

18.  Which of the following statements about the Gupta society is true?
1. The Gupta emperors called themselves as Parama Bhagavatas
2. Trade with Rome and China flourished
3. Women from higher classes wear purdah
4. The custom of Sati was practiced by them
a.1and 3 are correct b. 3 and 4 are correct c. only 4 is correct
d. 1, 2 and 4 are correct e. answer not known
SWSGSBIIILLILGUBIed GUSTHeT  HTeF  FUPSTWD  GNSHS  FBBISH6ied
giwimereney eTeme?
GLS SDIJSTH6T SHeNMIGEN6NTL LIFIDLTHMST 616N DIMPSHSHIS 68 T6u0TL 6.
FammaLanid. CmpLenid elwmurgd CFHSHSHSB.
o Wit U@L QUeNTEeT (LPSHSHDHEW]T DI6wilHEeuT
2 | BB GMID UPSHDBD S (HHDHSHI.
1 wBpn 3 gf b. 3 wBmb 4 & c. 4 w @ g
1, 2 woBmb 4 & e. alewL OFfluialedensv

Qo R whe=

19. Harisena was the court poet of

a. Samudra Gupta b. Skanda Gupta c. Chandra Gupta II
d. Kumara Gupta e. Answer not known

anfGearT Sourgl Slemeaull LeveT

a. 5P GLST b. evaps GUsT  C. @geimb shET SIS
d. gwm Glsy e. alewL OFHfluieisvensv

20.  Which one of the Statement is correct regarding Dauladabad?
1. Dauladabad mean city of wealth.
2. Another name of Dauladabad is Devagiri.
3. Muhammad bin Tughlaq changed his capital from Delhi to Devagiri.
4. Dauladabad was a part of the Bahmini kingdom.
a.1only b. 2 only c. 3 only

d.1 23,4 e. Answer not known

BIPHEWILM6UH6T60 OFHemeosTuTd uUBBlw Fn@mmiseiled gflwmerg e1g?
OFHeMeLHTLITS 6THIBT60 OFeveUd GBTPHSH BSJWD 6T G,

2. Ggemevgmurdglen oBeBmm GuwiT Gxheudlfl

3. ezl e gHidbend $Hmeubdam] 6lsveduled @mbaH CHeudlfd@ ommmle.
4. Qzemevamundh, umblel SIfler @ UGHWTGLD.

a. 1 G b. 2 w G C. 3 o (Bb
d.1,23,4 e. alewL OFflwalevensv
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21.  Who among the following was first ruler to propound the Divine Right Theory

of Kingship?

a. Alauddin Khilji b. Balban c. [Itumish

d. Raziya e. Answer not known

SaurpUeBpleT oFfler Ozuiais o Menwd G UT ML (PSIDaISHSH (LPHeL DIFST
wirrr?

a. SleUTe|HeT BHleved b. umebLesT C. @e0zIlag

d. @yflwunr e. alewL Oz Muwealsdensv

22.  The first architectural construction made by Qutb -ud-Din-Aibak was the

a. Qutb Minar b. Arhai-Din-Ka-Jhompra

c. Quwwat-ul-Islam mosque d. Jamaat Khana Masjid

e. Answer not known

GIHLUDHOT QLSBT0 (LPHeVIeL 2 (HeUTSLILL L HL gL LDT6ISH] SSLD.
a. G&UdeTT b.oirsmuI-8eir-am-Gegmibliym

C. GOUTH 2 60 E6r06VTD LG d. muwors @rent ereds
e. alenL GgMwalsvenso

23.  Assertion (A): Abul Fazal’s Akbar Nama contains three volumes

Reason (R): First volume contains an account of Akbar’s ancestors, second

volume extensively denoted the reign of Akbar’s, Third volume has been given

a separate title “ Ain-i-Akbari”

a. (A)istrue but (R) is false

b. Both (A) and (R) are true. (R) is the correct explanation of (A)

c. (A)is false but (R) is true

d. Both (A) and (R) are true. But (R) is not the correct explanation of (A)

e. Answer not known

FBm (A): SILeL UTFedeT DIBUT BT 3 UTHSHMS OBTemiL g

aryenid (R): (psped umsbd  oiduflear  (perGeamiset uBpBlwg. @JewiLmDd  UTsD

osuflar g fAevwit uBy allfleureds gmmpleugl. cpepmd uTsd Suiel obufer Hel

HEMGULIL|

a. (A) gfl gpemed (R) seum

b. (A) wmmb (R) odw @rewio s (R) eewug (A olBg aflwmer
alleN&HLOTGHLD

c. (A saum gemed (R) &l

d. (A) wppd (R) oy @rewibd af spemed (R) ereiug (A) elBg gflwmer
aNleT&&LD6060

e. alemL Gxflwalsdenen

24. Choose the incorrect match
i. Suba - Sipahsalar

ii. Sarkar - faujdar

iii. =~ Pargana - Shigdar

iv.  Village - Bakhshi

a.iand ii only b. ii only c. iii and iv only
d. iv only e. answer not known
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QUTMHGSHID BeveoTHauBmBS CHTHOHHSHBMLD

1. &um - FuurgmeolT

ii. FebBT - QuemgyHiT

iii. LITSBTeaTT - FbHir

iv. Symo - usbad

a.i mpd i G b.ii @b C.iii oBmub iv 1l Hd
d.iv wl@Gw e. alewL Ozfweaisoensv

25.  (A): Akbar became the forerunner of ‘Sardha Act'.
(B): He imposed the minimum age limitation as 18 years for boys and 14
years for girls in order to discourage the child marriage
a. A is true but B is false b. Both A and B true
c. A is false and B is true c. Both A and B are false
e. Answer not known
(A): @1BUT FMHT FULSHST (WTCITIQUITS FHBLDHSHTT
(B): o suemiBEe GoBhaH 18 euwgHd GCuemieniBg 14 euwgions SHroTelss
GYHMS D(HLMSMS GMBHS BLANYHMS TBSSIT
a. (A) sfl syemmed (B) seum b. (A) wspw (B) &M
c. (A) sag wipw (B) &f d. (A) wimd (B) saup
e. alewL Goflwalevenso

26.  Which pair is not correct?
a. Shahjahan Nama - Shahjahan
b. Tuzuk-i-Jahangiri- Jahangir
c. Tuzuk-i-Baburi - Babur
d. Humayun nama -Gulbadan Begum
e. Answer not known
SHoUmTer Beneo 61517
a. QQTMSTE BT - GLHTEQEBITEN
b. g156-8- manTHA - MBI
C. F&&H-G-umul - U
d. ameomuyes BIOT - Gedudet BussD
e. alemL OFflualsoensv

27.  Which one of the statement is correct regarding Mihrunnisha?
1. Mihrunnisha father name was Miza Liyaz Beg, a Afghan
2. She was born in 1577
3. She was married to Ali Quli beg Isgulla
4. She was conferred the title of Nurjahan and then Nurmahal
a. 2, 3, 4 are correct 1 only incorrect b. 2, 3 are correct 1, 4 are incorrect
c. 1,2, 4 are correct 3 only incorrect d.1, 2,3, 4 are correct

e. Answer not known

Quameragt GBisHs Fllwmear gmppisemen CHiTs.

1. Quwameagyr FHhHmd WNT edwmed Cud BeuT @@ SLLIsSTelwT

2. Quwametagr 157760 LIBpHSTT

3. BaT 9160 &0 GuE B6erd@H6e060T 6IGTLIIEM]  LDEWIHSHTT

4. ®HHEG HITMETET 6B LULLLD (WPpHeded e [T 1&STe0 616l UL L (LD
QBTHHBLILLL F|.
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a. 2, 3,4 sflwreng 1 1ol BId Heummens) b. 2,3 sflwnenal 1,4 seupmeng
c. 1,2, 4 silwnerg 3 ol B0 SHeUBTeIH d. 1,2, 3, 4 swresgl
e. alemL Gy flwailsvenso

28.  Under Maratha administration, the Amatya or Majumder was appointed

i He was responsible for the account of Income and Expenditure of the
state.

ii. He was responsible for the personal safety of the king and supervise his
daily routine work.

iii. =~ He was the foreign minister.

iv.  His duty was to see that all royal letters.

Which of the above statement is correct?

a. (i) b. (ii) c. (iii) d. (iv) e. Answer not known

SIDGHWT HIGL6VFH! LOIFIDSHTT 6THILIUMT LOJTHHW i Fuled MHuioend OFUIgHeTT.

1. ST  IHSLHE  aufe] OFevey HMIHmS UTTEGWL  QUTBINIIBSTS
BBl eI L.

ii. wentenfledl  LTHISTIL  LBBID Sl 2 galwrengmseayd  Seuflear  gerar

BGouemevamemen GomumTiTeNe BIUILOGSILL LT
iii. Geuellwymseysd Hemp WHAHMWTS Bl L.

iv. SITWTOMSNEEG GUHLD SHUTeLHE6N LITTILG Sieufledr SLenOWITELd
Gupanpslweuppled 61zl Fflwmer BBmELD?
a. (i) b. (ii) c. (iii) d. (iv) e. alewL Opfwalsoenso

29. Assertion (A): Chauth and Sardesh Mukhi were the important sources of
Maratha state Revenue.
Reason (R): Chauth was a charge of 25% of the land Revenue of the area which
was claimed by the Maarathas as a price for offering their protection against
foreign aggression. Sardesh Mukhi was a charge equal to 1/10 of the land
revenue.
a. (A) is true but (R) is false
b. Both (A) and (R ) are true (R) is the correct explanation of (A)
c. (A) is false but (R) is true
d. Both (A) and (R) are true but (R) is not the correct explanation of (A)
e. Answer not known
F&Bm (A): Feydh BmId FT8Hadpd eaufider LITSHHW SFdlet (WPHSHW  eUHEUTU
SLSTIRIS6T DG LD.
asryenid (R): ‘goyd’ eeiug  oppuwiseiar  osdToinled SmbaH — UTHSTHS
BGouewty OQomdhs  BHevaumeauruied 25% au@eddsiul L auflwr@b. ‘F8sHadwpd’  eufl
Blevaumauruled UGSHe0 e umkiG 1/10 eugyeddbaiiu L g
(A) s apemmed (R)seuml.
(A) wBpd (R) syl @yewibo &fl. (R) etediugy (A) alBe sfwrer aflenssomgLd
(A) soup spemmed (R) &l
. (A) vpp (R) eudw GremiGn oM spemmed  (R) etetiug (A) el gflwmen
aleNT 8 L0606V.
e. alewL Gzflualsbenso

an oe

30. Identify the wrong statements from the following.
a. Shivaji’s guardian was Dadaji Kondadev
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The coronation of Shivaji was celebrated with great splendour at Raigod.
Shivaji’s soldiers plundered Surat in 1665.

In 1674, Shivaji crowned himself by assuming the title of “Chatrapati”.

. Answer not known

BLDSHHETL_UBBIGT HEUBTRT FnBeNBSH HEWIL S,

a. flaurduilest LTHIBTEUGOT HTHTES OClBTewiL CHel.

b. feured pruisl GamlemLulled (LPI@L 1985 OCBTENTLIT.

c. Fourduilesr uemL effTEeT 166560 GHIHENDH GeDBUITIQEOTTT.

d. 1674-860 g57ud eraid GUUWIREL (LPI@slgeoTTiT

e. alemL Oz flwailsvenso

o oo o

31. Regarding the taxation system of Krishna Deva, the ruler of Vijayanagar.
Consider the following statements:
(1) The tax rate on Land was fixed depending on the quality of the land.
(2) Private owners of workshops paid on industries tax.
Which of the statements given above is/are correct?
a. (1) only b. (2) only c. Both (1) and (2)
d. Neither (1) nor (2) e. Answer not known
alwpsy e SmagenCheugmwit  eufl  alHy  (pewpuled ShoHHWIL  61HS
el Fl(empenwt  LledrLimnsleorit?
1. plev suflwneng HevdHen SHeiteno SigliienLuled HiTewruilbaiulL .
2. gelwnm 0xmled BHipeuamiseier (paHeoTefleeT OFHTHBFTMmev euflenuwt 6lF eI 6.
a. 1 wl @G b. 2 wi @b c. 1 wBmib 2 B
d. 1ib Bevemev 210 Bevenev €. el G flwalevamnsv

32.  Match List I with List IT and choose your answer from the codes given below:

List I List IT
Traveller Rules of Vijayanagar
a. Nicolo de Conti 1. Krishnadevaraya
b. Domingo Paes 2. Devaraya Il
c. Ferno Nunz 3. Devaraya I
d. Abdul Razzak 4. Achyuta Raya
A B C D
a. 3 1 4 2
b. 1 4 2 3
C. 3 4 2 3
d. 2 1 4 3
e. Answer not known
QuUT(HSHHI.
SIL_Leuenenr 1 I Leuenemor 11
LIULIGu0T 61T alFWhsy S FWImenTael
A. H&CxTGeuT-l0-BTewTlg 1. Slmedeor@geuymui
B. GLmAMmGsT uuwerd 2. Gxeugmuir II
C. QuirGerm Hi6sTerd 3. Bmpeugmui I
D. anigied yomsd 4. OF&HS [IWT

A B C D
a. 3 1 4 2
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b 1 4 2 3
C. 3 4 2

d. 2 1 4 3
e. allewL Gaflwealedeneo

W

33. Sambavati Kalyanam has written in the language of

a. Telugu b. Tamil c. Marathi

d. Sanskrit e. Answer not known

FTOUTeUE HEOWTEWILD 6163 BTV 6% QLomPluled er(pSLILIL (BeiTeng?

a. OzaImIE b. s C. LJTHI)

d. Fweddmsid e. alewL OFflwalevenev

34. Read the following and pick out the correct statements:

i Musical Pillars is one of the wonders of the Nayak Rule

ii. The music created by rhythmic hitting of stones is wondered by
International Musicians

iii. In the Thousand Pillared Hall of Meenakshi Temple in Madurai, one can
tind small pillars that exude music when hit upon

iv.  The Arthanaareeswara Temple at Rameshwaram consists of Pillars that
can produce the seven swaras (Notes)

a. iand ii alone are correct b. i, ii, and iii alone are correct

c. i, 1i, iii and iv all are correct d. i, 1ii, and iv alone are correct

e. Answer not known
Ueieud OHTLemIll LIgHSHF Fllumamnssd CHiTbosHbBaHsa|b

1. [_I')ITU.I&& LOGTTHET Oy Fluled o (HeuTen alWHSHESG DML BeNTF HIHITEWIH6N
UG LD

ii. H606VTEL  @AenFMUl  GIIPLILID  HeMeLEhTH6MGI  MB6U6HTTENID  HewI(h, LIGSTeITL (B
OIBlehTEEDHD allwbgh CUTBBIS EETT.

1ii. waleny Werml gwibioeir Gamuiledled o eitem  SLUITHRISTED LWL LISH60 Liev B
SHITWIB6T 2 oilener. @FHe0 @elCeumh FB SHrewid Bemd @6l eIILILeImSBHSH
SHITEUOT6VITLD.

iv. @yrGerveurd SITHSHHTFereuTT Camuieded o eiTen HTewIHe60 6D TOMTMIHEIT
@6ldalILBMmBE BB &H6vTLD.

a. 1,ii gdwemen ol Hio &l b. i,ii, iii eyPuwieneu

c. i,1ii,iii, iv oearssid g d. i,ii wpgw iv syFuwemer I G &

e. alemL G fwailsvenso

35.  Assertion (A): The Indian heritage advocates hospitality, charity,
friendship, love, respect for parents and elders and tolerance.
Reason (R): All the above mentioned traits help the people to live in unity.
a. Both (A) and (R) are true
b. Both (A) and (R) are false
c. (A) is true but (R) is false
d. (A) is false but (R) is true
e. Answer not known

FaBpl: @bHw urgbuflud eeiug el mbhCHTIDLED, Fend, BLL, e, GuBEBTEmIUD
wBBID QuflweiTEmenud H&HH0 BBID FHILS SHTEDOMU UILBISHHISHTSLD.

12 | PageAPPOLO STUDY CENTRE PH: 044 - 24339436, 42867555, 9840226187



Sy uoTLD: GuoBanpw  vewTl®eT  CeuBmIenIDEHEMET  OBHSH  LDHBHET  GMBMIENLOU|L 63T
QUTD 256 |dl6eTe6T.

FBOID SMyenr(pDd &ifl

FaBEBILD STTERI(PLD Heuml

FBuIb M, sMyewd Heuml

&MU SHeuml, Sryewid &l

alenL  Gxflwailsvensv

c a0 ow

36. In what time will X 5,600 amount to X 6,720 at 6% per annum?
a. 3 years b.32 years .32 years
4 3

d.3 % years e. Answer not known

asbpmen emihaeier X 5,600, 6% o aully aigsHe0, FmbBHe0 I 6,720 ouEb?
. . 1 : . 1 : .

a. 3 SLeIBHe b.3 S SmiBee c.3 e (CELY

d. 3% EeCER e. alewL OxfNweaisbensv

37. IfA:B=2:5B:C=15:7, find theratioof A:B: C.

a.2:5:7 b.3:15:7 c.6:15:7
d.6:15:14 e. Answer not known
A:B=2:5B:C=15:7aailed, A:B:C wer aldpsdmmd Sreunis.
a.2:5:7 b.3:15:7 c.6:15:7
d.6:15:14 e. alewL Oz fweaisoensv

38.  Kuzhal’s mother makes dosa by mixing the batter made from 1 portion of urad
dhall with 4 portions of rice. Represent each of the ingredients used in the batter
as percentage
a. 60%, 40% b. 30%, 40% c. 80%, 20%

d. 80%, 40% e. Answer not known
1 umie o @Epba wieLear 4 umg ofld sebhd WTalsd, Gs0 sletLeufler  gTuwimT
Cxpmemg  HwmflsaprT  eafled, TOIHESWD  POLIGUTHETHMENF  FHAIHLOTHSD

SBSHBLD.
a. 60%, 40% b. 30%, 40% c. 80%, 20%
d. 80%, 40% e. alen OaMNwealeoensw

39. What sum of money will earn Rs. 500 as simple interest in 1 year at 5% per
annum?
a. 50,000 b. 30,000 c. 10,000 d. 5,000 e. Answer not known
4eBS S% ety eipsHed @f eweiope . 500 @B salaywres S
DIF6L 61611616167
a. 50,000 b. 30,000 c. 10,000 d. 5,000 e. allenL Qzflwalsdenso

40. A person decides to create a fund to be invested at 10% per annum to provide
for prize of Rs. 500 every year. The initial investment is
a. Rs. 4,000 b. Rs. 5,000 c. Rs. 6,000
d. Rs. 5,500 e. Answer not known
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Q0 BUT @eUCeuTH LG ah. 500 Ufa eUIPRIGUBDBETE DewiBHSG 10% 61613
wpempulled (1PpHeSh OFUIW @ HHdW o (Heautdd (Pigey CFUISBIT 6elled SYIIDL

WPHSH  HTeuIb.
a. . 4,000 b. ep. 5000 C. @ 6,000
d. ep. 5,500 e. alenL GxMwaievemen

41.  Which of the following statements are true about Buddhism?

1. Buddhism denied the authority of Vedas

2. Buddha’s teachings were largely based on Brahmanic ideas of Punarjanma,
Karma and Moksha

3. Buddhism was not practical and ethical

4. Buddhism accepts God as creator

a.1, 2,3 are correct b.1and 2 only are correct c. only 2 is correct

d. 3 and 4 are correct e. answer not known

S GUUUILLUGUBBSed OuesHs WHD GBS gt sapens Cxitey GFuIS

1. GQuensald Geougpmsaie YHEHHMS LBIGH B

2. Quengdsy  Gurgemenser  w@iLImry,  Guorligwb,  &Tor  spHw  Lgmoewis
BH(HSHBHIHHM6T DQLILINL WTHS OSBTRIL S

CUETSSLD HDL(pD WHBID CBBlLP@BWBBSI
CUETHSD SLYMETL LInL HHUITS JBBISCSTETHBSHI

1, 2 wpmd 3 gfib. 1 wByw 2 W ED & c. 2 w G &
3 ppib 4 & e. alowL  GgMwaledensv

O

42. Choose the correct statement:

1. The Indian heritage advocates hospitality, charity, friendship, love,
humility, truth

ii. The paintings at Ajanta and Ellora are famous worldwide

iii. The Jain’s celebrate Buddha Poornima.

iv. Bharathanatiyam, Kuchipudi, Kathak, Manipuri and Oddissi are some of
the famous dances in India.

a.iand ii are correct b. Only iv is correct

c. Only iii is correct d.i,ii and iv are correct

e. Answer not known
Fflwrend Fmpeds CxHye| OCFuls:

i Shgunt umpbufluid  elGEGSHTDL, FeDd, [BUL, I, @UPHBID, 2 aHenio,
SFWaBmBS GBIl Gl

ii. SIMBSHT OBBID 6160C60MIT alWIBIGET 2 60850 Lsh BBy

iii. FLOMITHET LHS LJenliomenel OSmewiLm(Ha a6y

iv. ur®  BILuD, GF&FILUY, &HEHe, welliyfl, wBBID elpd  GCureBeme
@bFHwreler Lsp OUBB HL TSHHM60H6MTEGHD

a.i wmpd i &4 b.iv G Fif c.iii w @B &
d. i, ii wBpd iv & e. alemL Oaflwailsvensv
43.  Who mentioned about the Rose Merchants of Vijayanagar?
a. Barbarossa b. Abdur Razak ¢. Nuniz
d. Paes e. Answer not known
alxwpsrsas Crmeym elwrurfeeentt umpsl GESILILICLeuT wimiT?
a. umru@yrem b. ez yand c. Buyeierd
d. uwerd e. alowL O MNuelsdamen
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44.  Which of the following is correctly paired?

1. Pattadakkal - Chalukyas of Vatapi

2. Elephanta caves - Ashoka

3. Ellora caves - Rashtrakutas

4. Mamallapuram - Narasimha Varma I

a. 1, 3, 4 are correct b. 2, 3, 4 are correct c.4,3,2 are correct
d. 4,1, 2 are correct e. Answer not known

gflwrenr Bevewienwsh BxiTey OCFuIs.

I. UlLL&&6D - UTHTL  FTEHSHSIWIT

2. 6T60EILICITLIT (3H6NBHH6N - Y a0

3. 6160B60MIT  (&H6NBHEN - JTORIQ] b FnL_TE6IT

4. LDOTLD6VEVLTLD (LPHEUMLD BT FDLOGUTLDGHT

a. 1, 3, 4 sfilwmeaig b. 2, 3, 4 sflwneng c. 4, 3, 2 sflwnengl
d. 4, 1, 2 sflwneig e. alowL O MNuwealsdamen

45.  With reference to “Unity in diversity’, India is an ethnological museum Which of
the following is the correct statement?
(i) Majority of the people of India are descendants of immigrants from across the
Himalayas
(i) People belonging to different racial stocks have common physical
appearance and food habits.
a. (i) b. (ii) c. Both (i) and (ii)
d. Neither (i) nor (ii) e. Answer not know
‘CouBpieniouied  QMBEIENID’ 618  H(HHHD, SHAHWIT  SeThB6TeT  DIHHRIGBTL AUIBLD.
Ams GuTHSH SO smmBLLLB6Ten SaBuled 6% &MuiTeTene?

(i) @bFHwnaled GLHLDLTEIND &6, Gwmeoullel(bbdl aUbEH OSSN 60
ol Caprepeosel.

(ii) Gaupul L.  OeNosseT GUTFHaTET SUIBeNd 2 L6 Dl  LoBHID
2 e LIPSHSHHMPHUID OBTeasiBeienet

a. (i) b. (ii) c. (i) whpd (ii) SyewGid

d. ()b oevev (ii)0 Sied6L e. alowL OFMweailsvenev

46.  Which one of the statement is incorrect regarding the Neolithic culture?

i. They engaged in hunting, fishing and domestication of animals.
ii. Their houses were mostly in square shape with conical roofs.
iii. =~ The Neolithic women wore beads as a ornaments.

iv.  The important craft of the period was pottery making.

(i) is correct (ii), (iii), (iv) is incorrect

(i) and (ii) are correct (iii) and (iv) are incorrect.
(i), (ii), (iii) are correct (iv) only incorrect

(i), (iii) and (iv) are correct (ii) only incorrect

e. Answer not known

Leiteu(heuasieuBplled LSl SBBTeOD GSBISHSH SHeUBTer Fnpml 6117

1. yHw  SBHTev  aHTHen  Coul enL WmBHeo, BINgHHe0 SHT60HML  GUGTITLIL
OaTHe60 FHLIL L 6.

ii. UHW SBHTe0  alHTHeler aibHeT FHIT algaleuld, med] &nldl] 6UgaTeID
SIDIHSBHSSI-

a0 oe
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iii. USHW BBBHTe0 GILIGITHET LD6WTHEMET  SLLITETRIBETTS  SI60THI) (hHbSHE0TT.
iv. LITED&IT 6UeMEITHeL LIS SMBHTe0 oM HTHerlel mdHoSHTIHe0TS EHHHHI.
a. (i) &M (ii), (iii), (iv) seupTeIg.

b. (i), (i) &f (iii), (iv) seupTens

c. (i), (ii), (iii) sfwreng (iv) WLBL SHeuBTers

d. (i), (iii), (iv) wiGw sfwreg (i) seupTerg

e. alewL OQFflwaisvensv

47.  Match correctly the following Indus Valley Civilization sites with its locations.

A. Harappa 1. Sindh

B. Mohenjadaro 2. Gujarath

C. Kalibangan 3. Punjab

D. Lothal 4. Rajasthan
A B C D

a. 2 4 1 3

b. 3 1 4 2

C. 3 4 2 1

d. 2 1 4 3

e. Answer not known
Fbgl Fwoeuel BHTENEHH6 Hommidamen HH6T SBHULILSSHIL T Flwms CUTHHHIS.

A. emgim 1. dpg
B. GurGanehssr@ym 2. GQITH
C. arefumis e 3. LighamL
D. Geurggev 4. JTeRer0&mest
A B C D
a 2 4 1 3
b 3 1 4 2
C 3 4 2 1
d. 2 1 4 3
e. alewL OFflweaiedensv
48.  Arrange the Gupta rulers in chronological order:
1. Samudra Gupta 2. Sri Gupta
3. Kumara Gupta - II 4. Rama Gupta
a. 21,43 b.2,3,4,1 c.4231
d.4,3,1,2 e. Answer not known
GLS S FwmenTaemen STeveuflenaLliLigSHHis
1. swssly @uST 2.0f GLSBT
3. @IEWILMD Gy &GLSHT 4. gmomT  GLSGT
a. 21,43 b.2,3,4,1 c.4,23,1
d.4,3,1,2 e. alewL  Gafuialevemsv
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49.  Match List I with List II and select the correct answer:

ListI List II
A. Vishakhadatta 1. Nitisastra
B. Kamandaka 2. Niyaya Bhashya
C. Asanga 3. Mudrarakshasha
D. Vatsyayana 4. Bhumi Sastra
A B C D
a. 4 2 1 3
b. 3 1 Z 2
C. 3 2 1 4
d. 1 3 2 Z

e. Answer not known
ucguwisd Iy uluwed II — o et QuIpsHd Fllwmer alenLemwt CHTOHBHHH 61(1DHIH:

U iguied I ucguiev 1T

A. alevnasssaT 1. B& FTevg LD

B. smonpbsait 2. Bwmw uTeuitb

C. 9lenmisT 3. (PSHT JTTHAIOILD

D. eumerdguwimuientt 4. yifl grervdyd
A B C D

a 4 2 1 3

b. 3 1 4 2

C. 3 2 1 4

d. 1 3 2 4

e. allenL  Gafwalsdenev

50.  Assertion(A):The Gupta period is rightly called the ‘Golden Age’ of literature
and art.
Reason (R): There was deterioration in the position of women, decline of the
urban centres, increase in social disorder and subinfeudation in the later Gupta
times.
a. Both (A) and (R)are correct and (R)Explains (A)
b. Both (A) and (R) are correct but (R) does not explains(A)
c. Only (A) is correct
d. Only (R) is correct
e. Answer not known
B (A) : GUST HTeVD BeudbdWid, Hmev FweuBBle  GUTBETEVD 66Nl
SImWHSILGIG FRAWTGLD.
amyenid  (R): UBater @UST &TeudFHled Ouemiseier Heneoulsd gfley, BHSTILD
mwWnhiselear  allpFd, gFuwass FiGmevse o Llemeysel SIFSMILY  Eluiemnel
BmHHe.
a. (A) oppid (R) sflwrerg, (R) aeiug (A) alBg sflwmer efendsom@d
b. (A) wipb (R) eudw Byewiid i wimd (R) eaug (A) olBg  aflwmer
a6 &HL06V60
c. (A) w BGw &l
d. R) w BB &
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51.  Question are of matching type question select the correct answer from the codes
given below:

List - I List - II
A. Samudragupta 1. Paharpur Copper Plate
B. Chandragupta II 2. Iran Stone Pillar
C. Buddhagupta 3. Udayagiri Caves
D. Skandagupta 4. Junagarh Rock
A B C D
a. 3 2 1 4
b. 2 3 1 4
C. 3 1 2 4
d. 2 1 4 3

e. Answer not known
CaTHSHBILLIQHEGSD DI L euenewien! OILMT(HHHIS.

SIL_Lauenemr — I S Leuenewor — 11
A. FpsHrSUST 1. usryT G&ly ulLuwib
B. spdlreust 11 2. TG &0 HTGWT
C. yssaUST 3. 2 swdfl Gma
D. ebvabsalst 4. eoPeUITSHT LITen)
A B C D
a. 3 2 1 4
b. 2 3 1 4
C. 3 1 2 4
d. 2 1 4 3

e. allenL  Ggfwailsvenev

52.  Match the List [ with List II and select the correct answer form the codes given
below in the Lists:

List I List II
A. Buland Darwaza, Fatehpur Sikri 1. Alauddin Khilji
B. Alai Darwaza, Delhi 2. Akbar
C. Moti Masjid, Delhi 3. Shahjahan
D. Moti Masjid, Agra 4. Aurangazeb
Codes:
A B C D
a 1 2 3 4
b 2 1 4 3
c 1 2 4 3
d 4 1 3 2
e. Answer not known
QuUT(HSHHI.
afleng 1 aufleng 11
A. yoobsd HTeuram, LB Heif 1. ooTeyder &leogd
B. speorul siteuram, 196060 2. &I&UT
C. Gurd &g, 196060 3. QQTERHT6T
D. Gurd &g, ousym 4. @enImIBSL
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B C D
a 1 2 3 4
b 2 1 4 3
c 1 2 4 3
d 4 1 3 2

e. alemL Oaflwalsvemnso
53.  Match List I with List II:

List I List II
A. Ziauddin Barani 1. Tabaqat-i-Nasiri
B. Amir Khusrau 2. Tarikh-i-Firuz Shahi
C. Alberuni 3. Miftah ul Futuh
D. Minhaj-us-Siraj 4. Tarikh Al Hind
A B C D
a. 3 4 2 1
b. 2 3 4 1
C. 4 3 2 1
d. 3 4 1 2 e. Answer not known
ucguwesd I & uluwed II e 61 QUTHSHSHIS.
A. fwmeygest Ligmend 1. sUUTSSH-B)-Her0r
B. sufitgevm 2. s1e-B-0uCImed agTsl
C. 91600UI(me 3. W..OLT-2 6015
D. Wsiamred o b &merd 4. Hié-Sie0-anlbd
A B C D
a. 3 4 2 1
b. 2 3 4 1
C. 4 3 2 1
d. 3 4 1 2 e. alewL OFfwalevenev

54.  Choose the right matches among the following:

1. The Forty - The Chalisa

2. Razia Begum - Ruknuddin

3. Diwan-i- ariz - Finance Minister

4. Balban - Barids

a. 4 and 3 are correct b. 2, 3 and 4 are correct c. 1 and 3 are correct

d. 1, 2 and 4 are correct e. Answer not known
s GUUUILLaBBled sflwmer GuTHSHSEEmens CHiey GCFuIs:

1. BIBUSIGILOT - Fevlam

2. @pdflwr Gusib - (HBHISHT

3. Foureit @ oyfled - HFH SiewOFSFT

4. UTeOLIGHT - umflend

a. 4 wpyib 3 gl b. 2, 3 wBpd 4 i c. 1, mmib 3 &
d. 1, 2 wBpid 4 & e. alowL OFflweaisvenev
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55.  Assertion [A]: Firoz Shah Tughlaq did not levy Jizya tax.
Reason [R]: His influential Minister Khan-i-Jahan Maqgbul was a Muslim convert
Hindu.
a. Both [A] and [R] are true, and [R] is the correct explanation of [A].
b. Both [A] and [R] are true but [R] is not a correct explanation of [A].
c. [A]is true but [R] is false
d. [A]Iis false but [R] is true
e. Answer not known
amol [A]: geognar QUGITaYT Sibensd ‘@aduir’ auflenwl alddsaleoenen
smyenid [R]:  @euys sl OUBB DIHIDFFT HIGT-F-QBT6T DHLLED @@H LDSID OMmlu
BerOe0mOWIT  SLEUTIT.
[A] w@pnd [R] sflwrerg Guwaibd [R] eyeig [A] -darer aflwmer elendasionELb.
[A] wBmib [R] sfwmeng Guweund [R] eyengl, [A] -darer aflwimer alendasineoe0
c. [A] sfwnengy eyemmed [R] seumreng
d. [A] seumprerg eyeme [R] &
e. alwL OGaflwalsveneo

ISR

56.  Assertion [A]:In 1299, Ala-ud-din Khalji decided to capture Malwa and Gujarat
and sent a large army under two of his generals.
Reason [R]: Not only were these areas fertile and populous, but also controlled
the Western Sea-Ports and Trade-Routes- connecting them with Ganga valley.
a. Both [A] and [R] are true and [R] explains [A]
b. Both [A] and [R] are true but [R] does not explain [A]
c. Only [A] s true
d. Only [R] is true
e. Answer not known
aBm [Al: 1299 8  georashSeEr  BHevgd  DTELAITEMEIUID,  GHIITHMSBUD
mBUIUBB  HOIGH @i HemuHseller S @ Oufw umLmW DL (P96
CEuwIHT.
amyenid [R]: @bt UGH D6l QUGITLDT TGN UULITHALD, 00 O (20):
OaTemiLenauwitdad SbHbIHCHTH, CBGHE SO HOBPSHIBM6ENS &L BLUTL 1960
meuHFH, HEIMS FOOeaNECeTh aTHHHD OCFuieugBETar SeneniliL] 6ULNHEMTHALD
BmHHe.
a. [A] wmmib [R] ey Byewiio &M [R] ereiug [A] elBg aflwmer elendasion@ib.
b. [A] wBpwd [R] ey ByewiGo &f, opemed [R] eaeug [A] alBe  aflwmer

161 BHLD6V6V

c. [A]w @GGw &M
d. [R] wr ®Gw &
e. alewL OFflwealsdenso

57.  Match correctly the Battles with their corresponding year.

a. First battle of Panipat 1.1527
b. Battle of Ghaghra 2.1529
c. Second battle of Panipat 3. 1526
d. Battle of Khanwa 4.1556
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_ o= NN o
BN R WA
N W R

e. Answer not known
SPp&ECaTHSHSILL(BelTen GUTTEdmen Sjemed BLBHS UBLSCHTH CUT(HSHHIS.
A. oo urelul Gumit 1. 1527
B. &mdébym Gumt 2. 1529
C. ®yemwi_meugl umefiul Gumi 3. 1526
D. smesteur Guimit 4. 1556
A B
a 1 2
b. 3 2
C. 4 1
d
e.

BN R WA
N W R

. 3 1
allenL  Ggflwalsvenev

58.  Reason and Assertion type

Assertion (A): Akbar introduced the Mansabdari system

Reason (R) : This system was borrowed from Iran

a. (A) is true (R)is false

b. Both (A) and (R) are true, and (R) is the correct explanation of (A)

c. (A) is false (R)is true

d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

e. Answer not known

Gl LOBHILD  STJ6mID

FBm (A) : SIGUT LOTSIFUSTH  (LpedBen  DINS(LPSLILIG S 6T

amyenrd (R) ®bd (wemp FITeNedl(hha CUBLILLL G

a. (A #f (R) seaumi

b. (A) wip (R) edw Brewibd afl wipd (R) eadws (A) albg afuimer
alleNm&&LoMELD

c. (A saum spemed (R)al

d. (A) wppd (R) oy @rewibd af spemed (R) ereiug (A) elBg gflwmer
aNleT&&LD6060

e. alemL Gxflwalsdenen

59.  Arrange in chronological order:
1. Revolt of Prince Khusrau 2. Battle of Chausa
3. Bubonic Plague in Punjab 4. Battle of Kanwah

a.4,2,1,3 b.1,2,3,4 ¢2,3,1,4 d.3,1,2,4 e. Answer not known
&M60 auflenaliLg IBHHHLD:

1. BemeuysT @GHer0enallel &He0HID 2. geugm Gumi

3. uEhamied Osmeienern GBI 4. smeeur Gumit

a.4,2,1,3 b.1,2,3,4 ¢c23,1,4 d.3,1,2,4 e ol Gxfluailsimen

60.  Which one of the statement is correct?
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i Humayun Nama compiled by Gulbadan Begum
ii. Baduni translated the Bagavatha purana into Persian
iii. = Todarmal translated the Bagavatha purana into Persian
iv.  Haji Ibrahim Sirhindi translated Atharvaveda
a. (i), (ii), (iii) are correct (iv) only incorrect
b. (i), (iii), (iv) are correct (ii) only incorrect
c. (i), (ii), (iv) are correct (iii) only incorrect
d. All are correct
e. Answer not known
SpaeniL Fapmisefley Fflwmer gamml e1g?
i QPTG BT 66l OFHTGHSDHalT GeoLHem GLSLD
ii. uglel UBaIEH LJTewidHms LUMjFs Gomhuied GLomPQLUWITSS T
1ii. O@TLTLOMeD UB6eusH UTemihemd Umfds Gompufed GLompeuwTd s
1v. asgd @gralb FfhdH iBTan CaugdHamsd OLOTHCLIWITSSTT
(1), (ii), (iii) sfwmerg (iv) seupTensi
(iii), (iv) sflwmergy (ii) WL GL  HeupTerg)
(1), (ii), (iv) sflwmerg) (iii) L BL  HeuBTeIH
. DIMBSHSHID FHlwTengl
e. alenL  Gafwalsvenev
61.  Which of the following Statements is/are not correct about Akbar?
1. Akbar was influenced by his mother
2. Akbar took Roopmathi from Baz Bahadur
3. Bairam khan was killed by Akbar
4. Akbar attacked Chitoor to loot the city
a. (1) and (2) are correct; (3) and (4) are wrong
b. (2) and (4) are correct; (1) and (3) are wrong
c. (2) and (3) are wrong; (1) and (4) are correct
d. (1) is correct; (2), (3) and (4) are wrong
e. Answer not known

&6 @MILILOUC LauBpSied SiGBLUMT UBBIW Heummel S(HHH 61517
1. &6UT Seurgl STWMTTEO SEUFUILIL LT
2. o&UT epliwgdenwl UTerousHTIL OHHEH SUTHSTT
3. UJTbSTENeT DISHLIT CBTeIIBT
4. iUt fHameny CsmeTemenplIISBETS LenL QUIBSHSHTT
a. (1) wbpd (2) &f; (3) wopid (4) seum
b. (2) wppid (4) &f; (1) wipiw (3) Seum
c. (2) wppid (3) seumy; (1) wipd (4) &
d. (1) s@; (2), (3) wBuid (4) Heum
e. alemL Gxflwalsvenev
62.  Pick out the incorrect matched from the following.
a. Muhtasibs - Censor of Public Morals
b. Wagia Navis - News Reporters
c. Khufia Navis - Secret letter Writers
d. Harakarah’s - Judicial Inspector

e. Answer not known
&0 OCETBHBILLBeTeneuBpled HeupmareuBenBs CHiTHOHHHS.
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a. (pamsTdlerd - OUTEH RUHS FHenllbend

b. amsdAwr maled - QFuIg MW(mLITESGIT
C. &. .wr maled - g SIS 6I(LDBILIGUTHEIT
d. amyrsmyerd - BHHHIMB  DLUIGUTETT

e. alewL Gafluwaisdenso

63.  Which of the following are correctly paired?
1. Abul Qasim Khan Namkin - Munshat-i-Namkin

2. Inayatullah Khan - Kalimat-i-Tayyakat

3. Muhammed Sadiq - Nigarnama-i-Munshi

4. Malikzada - Adam-i-Alamgiri

a. 1 and 2 are correct b. 1 and 3 are correct c. 2 and 4 are correct
d. 3 and 4 are correct e. Answer not known

Uesteumeussioummien Fflwmal QUIHSSLILILL n6eu  Teneu?

1. SIed STHIDSETEN HLDE6H - (PEITOGT &H-B-HLDES 6o

2. BTG BHIG060T  HIT6oT - BH6UIDSH-B-mPHUITHS

3. (PG FTHE - BHSTHTOT-B-(Lpaiiad

4. wmelldLT — QL D-B-SLe0ID&

a. 1 wpmb 2 gl b.1 wBmb 3 & C.2 BuId 4 &
d.3 wppd 4 & e. alewL  OxfNweaisbensv

64.  Arrange the successors of Shivaji in Chronological order

(i) Sahu- 1 (ii) Shivaji - II (iii) Raja Ram -I
(iv) Sambhaji (v) Ram Raja
a. (iv),(iii),(ii), (@),(v) b. (ii),(i),(v),(iii),(iv) c. (v),(iv),(ii), (i), (iii)
d. (i), (it),(iii),(v),(iv) e. Answer not known
Fourgguilesr eunfgsenend Filwndsd STevauTlaFILIGHHIS.
1. (PH6UTD ARTAB® 1. @rewiLmbd Heured iii. (pgHeoTd SFTEITID
1v. gbume)) V. @ymbyregT
a. (iv),(iii), (ii), (i),(v) b. (ii),(i),(v),(iii),(iv) c. (v),(iv),(ii), (i), (iii)
d. (i),(ii),(iii),(v),(iv) e. allewL Oz fwealsdeney

65. Match the List I with List II

List I State List II Capital
A. Nizam Shahi 1. Golkonda
B. Qutub Shahi 2. Bijapur

C. Imam Shahi 3. Ahmednagr
D. Adil Shahi 4. Berar

Campsasiiul L oI Leusnewt [ wBpid o1 Leuemenr I Qurmppbd) &6 O@TBHSILLL
GPuibseied (code)sd QUITHHHIH.

S Leauenewt | — oy& S Leouewent Il — HemeubsILd
A. Hggmb gmens 1. GamevLOs®meuTL T

B. a1 sman 2. Ul

C. ®wmb gFran 3. 9IBOG BT

D. s1ged gmans 4. gynir
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B m N Wy
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W =R A
_ W N g

a
b.
C.
d.
e. alemL Oxflwualsvemnso

66.  Which of the following is incorrectly paired?

A. Kavalgar 1. Police Officer

B. Talara 2. Superintendent

c. Begara 3. Watchman

d. Senateova 4. Village Accountant

a. (B) and (C) b. (A) and (D) c. (A) and (B)
d. (B) and (D) e. Answer not known

Leleu(heuaiouBmled SHoumTed SenentsbsLiLL (heTen Senenismensd CHiThogHoHaLD:

A. BTeueLBIT 1. Gumederd o

B. seomgm 2. SHEWISTemTILITET

C. Guasmym 3. &TeU6VT6N

D. Gran@LGuimeur 4. FJTDSH  BH6wTHBITEIIT

a. (B) wpmid (C) b. (A) wipid (D) . (A) wippi> (B)
d. (B) wmpib (D) e. alewL OFfweisdenso

67.  Match correctly the Folk dramas with their corresponding states.

A. Kathakali 1. Bengal

B. Jatra 2. Maharashtra
C. Ankiya Naat 3. Kerala

D. Tamasha 4. Assam

A B C D

a. 3 1 4 2

b. 1 2 4 3

c. 2 4 1 3

d. 2 4 3 1

e. Answer not known
BTLGUUB BrLsmisemen o flul wrmHeomasGenth QUMhEHSIS.

A. szz6f 1. GUBIST6NLD

B. sgrgym 2. DBTITAUQTLD

C. omsbw mr- 3. Gaenm

D. suwmeor 4. ©J6rOeNOTLD
A B C D

a 3 1 4 2

b. 1 2 4 3

C. 2 4 1 3

d. 2 4 3 1

e. alewL  Gaflwailsdenso
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68.  Which of the following inscriptions belong to Samudragupta?
I. Allahabad pillar Inscription  II. Nalanda copper plate

I1I. Iran stone Inscription IV. Mehruauli pillar Inscription
a.l, I, III and IV b.I Il and IV c. I, IT and III
d. L III and IV e. Answer not known

SPEHBMILUBEBIOT FWWSHHT GUST STOHMSHF FihEH HeVOIUL (BH6T 6Teneu?
I. svamung grem se0eulGaer 1. prenbaTsd QFiyl Ll uib

I11. etymest BevLOGUL([BHB6IT IV. Quosred smewt @606 [HHer
a. [, IT, T wimib IV b. I, IT @b IV c. I, IT wmmnb I11
d. I, IIT wommib IV e. alowL  GaMuwealevemev

69.  Match the following:

A. Gangadevi 1. Varadambika Parinaya
B. Thirumalamba 2. Madura Vijayam
C. Chamarasa 3. Prabhlinga Leelai
D. Kanaka Dasa 4. Hari Bakthi Saara
A B C D
a. 1 2 3 4
b. 2 1 4 3
C. 2 1 3 4
d. 3 4 1 2
e. Answer not known
QuUT(HSHHIB
A. snstésal 1. suggmbliar ufpruid
B. glmoeombuimr 2. FHIT elgguild
C. gwyan 3. pyedmis eSemnev
D. s gHrair 4. amfl usg amyb
A B C D
a. 1 2 3 4
b. 2 1 4 3
C. 2 1 3 4
d 3 4 1 2 e. alowL G Muwalevemev

70.  Sri Naryana Guru Swamy initiated a programme of action called Sri Narayana
Guru Dharma Paripalana Yogam which took up issues regarding;:

i. Encouraging inter-caste marriages

ii. Right of admission to public schools

iii.  Recruitment to Government schools

iv.  Access to temples and roads

a.i,1ii, and iii b. ii, iii and iv c.1,1iii and iv
c. 1,1, iii and iv e. Answer not known

nfpmyTwent  GmET  SHleumdw,  BIJTWen ST ufluTevet  BusHD  6hSH
alagumBmen (LP&TORIBHSHH!?

1. H0LILSH BH(HLOMIHMS 261G el 5HFH60

ii. QurgIl ueeli®eied SIS

iii. O Ueemaered GeuemeveumuriL]

iv. Bamalevse LOBBID FTemeuHeriled GFeL0 SiEILDS)
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a. i, ii @b iii b. ii, iii wommnbd iv C. i, iii oBmb iv
d. i, ii, iii w@pwd iv e. alewL OFfwalevenev

71.  Arrange Chronologically
i. Sadlar commission ii. The Raleigh Commission
iii. University Grants Commission iv. Radhakrishna Commission
a. (ii), (i), (iv), (iii) b. (i), (ii), (iv), (iii) c. (iii), (i), (ii), (iv)
d. (ii), (i), (iii), (iv) e. Answer not known
STev(pemmLiLy  auflengIL®BHHIH:
1. gmleo & ii. Gruiedsd @
1il. UEOBHMELEHINS LTS G 1V. EITHTEHAREWI G (1LD
a. (ii), (i), (iv), (iii) b. (i), (ii), (iv), (iii) c. (iii), (i), (ii), (iv)
d. (ii), (i), (iii), (iv) e. alenL Ggflwealsvenso

72.  Which of the following statements about Brahmo Samaj is Not True?

a. The purpose of Brahmo Samaj was to reform Hinduism.

b. It preached belief in one God.

c. It was based on reason.

d. It did not incorporate the teachings of other religions.

e. Answer not known.

Ly Formsmstl uBnl Ueeumh FBriseied 6% Fluimagl 1e0e0?
a. @b sFLWHMS T HSHIHING LIF FoTmsSHlar ChToHETELD.
b
C.
d
e

. 96y sL6ayeT eI BOLISmBML i CUTHSSHIHI.
SIF LGSHIHBmey SIQLiLienL WTHd 6aTeni(h DIMbHS(HHHH.
. 913 UB gFwowmiseier CUTHmeTHm6T 2 616 &Hale06m60.
allenL  Ggflwalsvenev

73.  Choose the right matches:
1. The prophet of Indian nationalism -Raja Ram Mohan Roy
2. To rouse pride of people in their Rich heritage give a call “back to vedas’
- Swami Vivekananda
3. R.G.Pradhan called him the father of Indian Nationalism - Swami Dayanand

Saraswathi
4. ‘Swaraj is my birth right’ is a statement of - Bal Gangadhar Tilak
a. 1 and 2 are correct b. 2 and 3 are correct c. 3 and 4 are correct
d. 1 and 4 are correct e. Answer not known
gllwmereuBens CUT(HSHSHIS:
1. @bsw CxdlusdHler sHmgieuT - @ymegr gmb GoTseymul

2. wézelar dmpbsy umpbuilwdems Ffba Cereil 6awsFd Oup Cougmisemern
Gprahdl OFeoad - Feumll alGeausTebsT
3. RG. ysrear @eaemy b BhFwsHHear  HhHewd CIGMBWDSHSTT -  SHeUmL

SWTHSH FTerveus)
4. swgmruid eeigl LIpliyflento ereiml dapilwieu - LITeL SMISTHT 60T

1 wppn 2 g b. 2 wBmid 3 & c. 3 wppid 4 &
. 1 1oBmib 4 & e. alemL Oaflwalevenso

a
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74.  Match and choose the correct answer from the code given below:

A. Bala Gangadhar Tilak 1. Voice of India

B. Dadabhai Naoroji 2. Madras Times

C. Macaulay 3. Kesari

D. William Digby 4. Minute on Indian Education
A B C D

a. 2 4 1 3

b. 3 1 4 2

C. 1 3 2 4

d Z 2 3 1

e. Answer not known

Leteu(meraumenmll Qummsbs sflwmer alewLenwid Cxie CFuis.

A. UTeL FHHRIBTHTT FHeVHIT . @bFHwmaler Greo

B. srgmumul QpenGrmed) QL gmerd emL_Lberd

C. QuéarGev . Gxal

D. aflevedwid 1951 . BhPws seval GNISHS GHWILIL|SH6IT

A B C D
a 2 4 1 3
b. 3 1 4 2
C. 1 3 2 4
d. 4 2 3 1
e. alewL OFfwailedensv
75.  Choose the right matches from the following pairs:
(i) Reform Movement - Women'’s Liberation Movement
(ii) Revolutionary Movement - Brahmo Samaj
(iii) Resistance Movement - Anti-Hindi Movement
(iv) Utopian Movement - The Sarvodaya Movement
a. (i) and (iii) are correct b. (i) and (ii) are correct
c. (ii) and (iii) are correct d. (iii) and (iv) are correct

e. Answer not known

SpdbaramiuaBmsled gflwmer QUTHSHHMBHSH CHTHOHBHSMLD

i) FTHBSd Bwsbsld - QuemiseT alBHMeL EUIhHLD

ii) ylfasyr Quésid - b0 FLOTEYLD

iii) @iy Bussbd- Sbd LB Buissd

iv) 2 GLMIIw Qussd - FTGauTHLT BUIdsD

a. (i) wmmpp (i) gfwrearenel b. (i) wBmb (i) sFfwrerene
c. (i) wmmud (iii) Fhwrerene d. (iii) w@Bpid (iv) Fiwmearenel
e. alemL G fwailsvenso

(
(
(
(

76.  The compound interest on X 4000 compounded annually for 2 years at the rate
of 5% per annum is
a. 3400 b. 3480 c. X430 d. X410 e. Answer not known
AWBHG @B (WwedB aullg gl B (pevpuied I 4000 & O TEmIBEG 5%
Al aipld BTeui(h eIBHHeNe0 HMLHGWD Fnl (B ULy 6161666, ?
a. 3400 b. X480 c. 3430 d. 3410 e. alewL OxfNweaisoensv
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77.  Find the CI on X 15000 for 3 years, if the rate of interest are 15%, 20% and 25%
for I, I and III years respectively.
a.X9,875 b.X10,875 ¢.X12,875 d.X11,875 e. Answer not known
I I wppw I syewibsensster aully aigmiser weapGu 15%, 20% wppid 25%
aaied X 15000 s 3 eihEHEnHE HMLSGHID Tl B QI 1QenUidh HTEwID.
a.X9,875 b.X10,875 ¢.X12,875 d.X11,875 e. ol Gxflwalsveneo

78.  Find the number of years for the principal X 2,500 rate of interest 2.5% and
simple interest X 187.50?
a.2 b.3 c.4 d.5 e. Answer not known
X 2500 sgevmeng, 2.5% ey eaipepd, I 187.50 sl  eaulpuins  61sgHmer
YR (CF: 11V A0 TIR: 3611
a.2 b.3 c.4 d.5 e. alew OxMNweaieoensv

79.  The ages of Rahul and Haroon are in the ratio 5 : 7. Four years later the sum of
their ages will be 56 years. What are their present age?
a. (15, 21) b. (20, 28) c. (25, 35)
d. (24, 32) e. Answer not known
JT&60 LOBDID emehenient HBOUTMSHW euwGHiHaier aldFHd 5 : 7 BTG SLewIBH6IT
BPHFH SauTHefen eSSl FmbBHeO 56 euUHLEIG6T.  SjeuTsefler HBOLTMHW
QUUIG| 6T6oT60r?
a. (15, 21) b. (20, 28) c. (25,35)
d. (24, 32) e. alewL Gsfluiaisdenen

80. A car travels 90 km in 2 hours 30 minutes. How much time is required to cover

210 km?
a. 3 hours 50 minutes b. 5 hours 50 minutes c. 5 hours 30 minutes
d. 3 hours 30 minutes e. Answer not known

Q@ WLHWHH 90 &b FMTHMBS SLES IBHHSHOBTeTEHD GHID 2  wewil 30
poLmser. 916 waWhas 210 Hib. FMTHMmHE SLSS 6HSHHHCBTeTEHD GHILD
61611616167

a. 3 wenfl 50 P mssT b, 5 wewil 50 MO FserT  C. 5 wewl 30 BOLBIH6IT
d. 3 wenfl 30 PO BT €. allen Gapfuiaisdemnso

81.  Which statement is true about the practice of Sati?
i. Raja Ram Mohan Roy took the oath to abolish the Sati.
ii. He helped William Bentinck to abolish this practice.
iii. The practice of Sati was declared a punishable offence in 1829.
a.Only I b. Only ii c. Only iii
d. i, ii and iii e. Answer not known
g peL(pemp uBlw Flwmer gaBplener/ abBnismend GHihO%HHHHMID
1. gmegm gmb Gomser Jrul F8 GID PHIHMSH ROHH © MIHOIOTS 61(BHSHSHTT
ii. sfeow PUHs allevellwid CUeNIgH-FBEG 2 HalerT
iii. 8 UGS SHwILewarsGlu GBBLTs 1829860 DNlalsaliul L g).
a.1 L@ b.ii w @b C.iil B
d.i, ii wppd iii e. alewL OFflwalsdensv
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82.  Which of these legislation banned Sati and made it Illegal?
a. Bengal Regulation XXI of 1975
b. Act of 1870
c. Sharda Act 1930
d. Regulation Act XVII of December 1829
e. Answer not known
absF FLLID FHmwsdh sl CFUISFCHTH SwdHF FULaIGITHLOTESH 616e1dh Fnpiiig?
a. URIBTEN QURIGLUGSSHID gL Lb XXI — 1975
b. 1870 &b ewihF g1 Lib
C. gmysm gL 1930
d. 1829 b e FbUMNed G@TeRIGeuriiul L QUEBIGUBSHID b XVII
e. allewl  Ggflualsvenso

83.  Assertion [A]: Macaulay argued for Western education in the English
language.
Reason [R]: Macaulay’s intention was to educate the people of India not in
Sanskrit or Persian language.
a. [A]is correct but [R] does not explain [A]
b. [A]is correct and [R] is incorrect
c. [A]is correct and [R] is a correct explanation of [A]
d. Both [A] and [R] are wrong
e. Answer not known
ammu [A]: CsaTCn  Hargl GPUYs6aTd ophEn eauflulsd GuBasdlLs SHeoal
SBUSSUILGMUSDBE DUSHTEUTS GUTHILL .
smyewid [R]:  Gést8v, OhHUTEensE FwevdBssHb, urpds Gomulebd
&H60a] LBLL LTSl 616D 6T60T60ID OBTERIQ(HHSTT.
a. Bm &, QEITe0 HTJeuDd FnBeny allenshsaleoemev
b. sa@m &f; sryewid Heumi
c. mmm gf; smyewid gmpenp Ffwns alend@GHI B
d. am@m sryenid IewiGl Heusl
e. allewL  Ggflualsvenso

84.  Assertion [A]:The Small Scale Industry of India was ruined due to the approach
of the Britishers.
Reason [R]:British Government declared the Policy of free trade in the year 1833.
a. [A]is true but [R] is false
b. Both [A] and [R] are true; and [R] is the correct explanation of [A]
c. [A]is false, but [R] is true
d. Both [A] and [R] are true, but [R] is not the correct explanation of [A]
e. Answer not known
&Bol [A]l:  ONlyed o Awuneniseler  SEmIGmBWTD  BbHu  FABIGSTH60
SIPbSI-
smyeond [R]: 18331 ouewi®  Uflged  opamhsd  HeoLuleveor  eumenilLid
CareTensmul DSlelHHSI.
a. [A] #f syemed [R] seumi
b. [A] wBpw [R] ewdw Sewibd &af wBpd [R] eaaug [A] -elBg gfumer

a6 &HLOMEGLD.
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C.
d.

e.

[A] meum syevmed [R] &

[A] wBmd [R] sy ByewiGio  &f, egemev [R] eteiug [A] alBg  afwmer
a6 &HL06V60

allewL  OFfweailedensv

85.  Which of the following statements about Ram Mohan Roy are True?

1.
2.

3.
4.

a.

d.

He fought against child marriage.
He campaigned against the practice of Sati and succeeded in abolising with
the help of British Government.
He opposed the Hindus system of Idolatry and cult.
He fought for the spread of Traditional education through the medium of
Sanskrit.

1,2,3,4 b.1,2,4 c.1,23

2,3,4 e. Answer not known

gmb Gomser gruwl UBSIW SPaI(HD FaBBIS6TNeD 6Tenel 2 ETIenLOUITTEN6 ?

1.
2.

e

4.
a.
d.

BUbDSS HHWMBSHEG aBITHL GUTITQET

o LBl d@ eFHgmal Uggdsmb Gaguigstt. Cueubd Uflges opsLer Cajbhgl
SmS UWILFe0 GleuBpl CLIBMITT.

ObhgH WLHHHO EOHEGD o (Hey UPUT LUl  PUTLH  (WPBHENETULD
THTHST.

FLe0&(hH S Gomdl cpeuld LTFUf Sevalleww gL GUTFTIQ6TTT.

1,2,3,4 b.1,2,4 c.1,2,3

2,3,4 e. alenL G Mwailsdenev

86.  Match and choose the correct answer from code given below:

A.

B.

C.
D.

Ao o

East India Association 1.1885
Madras Native Association 2.1884
Madras Mahajana Sabha 3.1852
Indian National Congress 4.1866

A B C D

1 3 2 4

1 2 3 4

3 4 1 2

4 3 2 1

e. Answer not known
LelieuheussiouBens Gumhsba gFflwmer alenLmuwid Bsxitey OFuis.

A.

B.

C.
D.

a
b
C.
d
e.

SpsshHFHw DBsTdGuget 1. 1885
CFaieneareuTdH6lT FHRISLD 2. 1884
OFcitenen LOHTEQET FRISLD 3. 1852
ObFHw Cxrdlw sTmISTerd 4. 1866

A B C D

1 3 2 4

1 2 3 4

3 4 1 2

4 3 2 1

allenL O fwealedensv
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87.  Match the following;:
A. Treaty of Mangalore 1.1765
B. Treaty of Paris 2.1794
C. Treaty of Srirangapatnam 3.1783
D. Treaty of Allahabad 4.1784

A B C

3 2 1

4 3 2

1 3 2

2 1 4

e. Answer not known

QuUTHSHHIS:

A. DBIBGHT 2 L 6igdHhmsd

B. umfled o 1 emgdens

C. njphisulLen o L @iLigsHms

D. sevamungd o L SiLigsHma

A B C

3 2
3
3

anoe

D
4
1
4
3

1765
1794
1783
1784

A e

a.
b. 4
C. 1
d
e.

NN =
W =g

. 2 1
alenL  Ggfwailedensv

88.  Match the following;:
A. Prarthana Samaj 1.1870
B. Widow Remarriage Association 2.1884
C. Poona Sarvajanik Sabha 3.1867
D. Deccan Education Society 4.1861

A B C

4 3 1

3 2 4

3 4 1

2 4 3

e. Answer not known

QuT(HSHHI%:

A. dgnirggenm Flomed

B. ellgemer omjoems  FmisLD

C. yGen gireumeisd aum

D. séatenm sevald SHLD
A B C

a 4 3

b. 3 2

C. 3 4

d

e.

pan op
RN RN g

1870
1884
1867
1861

el

W R R
R NR NG

. 2 4
allenL O fwealedensv
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89.  Arrange the following events in chronological order/event type:
(1) Revolt at Danapur
(2) Revolt at Meerut
(3) Death of Rani Lakshmibai of Jhansi
(4) Mangal Pande was hanged to death
a.2,31,4 b.1,2,4,3 c.4,21,3
d.3,1,4,2 e. Answer not known
Leleu(hld BlBLpeydemen HTeveuflengliLy e (LDMISHEMLDSHALD.
(1) sremmyfled Hleniée
(2) 15711960 &HleniTéS
(3) mmerdlullest gmewfl 60U GLOLITUI LDF6UOTLD
(4) whIB6T UTeRCL  HTdbaledL LI LT
a.2, 3, 1, 4 b. 1, 2, 4, 3 c. 4,2, 1,3
d. 3,1, 4, 2 e. alewL OFflwalevenev

90. ‘Damin-i-koh” was the land given by the British to the

a. Santhal tribes b. Kol tribes c. Garo tribes
d. Munda tribes e. Answer not known
‘Lmiler-@-Caman’ elaanild Hleold SmIsGeUITSH6MTe0 && GULRISLILLL S|

a. FhHMeL ULPEIGIQuileT b. G&med LipmIGIQUIEHTT c. &mlym uwmIGuleT
d. wewiLt uprEGEUiesT e el OFfNuwelsdemeo

91.  Consider the following statement
(i) Mahalwari system, was introduced by William Bentick
(if) Mahalwari system was introduced in the year 1833
(iii) The owner of the land is Government in Mahalwari system
(iv) The Village committee was held responsible for collection of taxes in
Mahalwari system
From there which are correct statement?
a. (i), (ii) and (iii) b. (iii) and (iv) c. (i),(ii) and (iv)
d. (i) and (iv) e. Answer not known
LeleU(HD SnmBenm Heveo
1. allebeduid Gueings eTaTLITTEL OABsLITT (LpewB SHIBI(WSUILBSHSLILIL L Sl
ii. bameveu (Lpewm, 1833 oub ey CaHTBmIaTSSLILIL L S
iii. ameveurf (pemBuiled, SITFTRISEL BHevdhHler CFTHHEEBTIT LeuTT
iv. wameveur (pempuiled Hgmo Gupeurergl aufl au@edd@n GuTBILL C&TeRIL g
BaubpIeT eTemeu FHlwimen FaBmI?
a. (i), (ii) wBpib (iii) b. (iii) wB@ID (iv) c. (i),(ii) wBpIb (iv)
d. (i) wBpid (iv) e. allewL Oz fwealsdeneo

92.  Which of the following are true about Velu Thambi?
i. Thambi had planned a secret attack with the native people
ii. He was a Tahsildar incharge of a Southern Travancore tract
iii. He worked closely with the British Government
a. (iii) only b. (i) only c. (ii) only
d. (i) and (ii) only e. Answer not known
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Ameuseiled Gougyl Hbllenwit LBl Fflwmer gBens 61(LRSI.

1.  @aT yiels wosmenud BFTHg IS HTHGHMeL bl HFH S LIOL LT
ii. @Gam 05BE& HEHAISTHET LUGHDGH STHOSTTS G HHSTT

iii.  QeuT IMLYed SITFTHIBSHHIL 6T GH([HBHIDTS  Licwiluimmpdeormi

a. (iii) L @w b. (i) L (G c. (ii) @G

d. (i) wBpib (ii) wL Gw e. allewL Oz flwalsdenev

93. Regarding the Poona Sarvajanik Sabha consider the statements.
1. Mahadev Govind Ranade was the brain of the organisation.
2. The Sabha awakened the people of their political rights.
3. It protested against the vernacular press Act of 1878.
4. It published ‘Amrita Bazar Patrika’.
Which of the statements given above is/are correct?
a.1and 2 only b.2 and 3 only
c.1,2and 3 d. 1 and 3 only
e. Answer not known
et gieureeld gemull uBp &HSHDH0 CHTeTs.
1. warBxei Gamalbs TrewiCL @eialWssHH T LPMETUITSE OCIFUIGOLIL L.
2. @Fsomu wisellear oflued o Menwsemens uBBw alfliliewiTensy gBUBSHH LS.
3. 187810 oueWih USHHNEMBF FLL HMGH CIHTHBHSI.
4. @eelwssd ‘oubfls umtt usflsr eaai@id usHFHfemasamul Geuefluil L gi.
GwBev EPUILL uTHSwSSe0 Fiiluimeienel 6leneu?
a. 1 wBpib 2 W @D b. 2 wBmid 3 w G0
c. 1, 2 oBpib 3 d. 1 wBpw 3 WD
e. allenL  Gafwalsdensv

94.  Assertion (A): Dadabai Naoroji organized the East India Association in London
Reason  (R): He wanted to influence the British Public opinion
a. (A) and (R) are true and (R) is the correct explanation of (A)
b. (A) is true, but (R) is false
c. (A) is false, but (R) is true
d. (A) and (R) are true and (R) is not the correct explanation of (A)
e. Answer not known
amom (A):  srHTUTU OBenGymes H&HBHFH WIS BBHMD V6L 636D
© _(HeUTEEIGITT
smyenid (R): Ufilyed Qurginsser smSHear e Gaeaundsd gnLbBSHS almoLieri.

a. (A)wsp (R) &f. womid, (R) (A)ssrear gfwrer alerssid
b. (A) afl epemed (R) seumi

c. (A)zaum. syemmev (R) &l

d. (A)wspd (R) &l wppid (R) (A)ssrer gfwmer ailerdaiosien

e. alewL Gzflualsdensv.

95. Consider the following statements:

i The partition of Bengal in 1905 was the most striking example of the
British divide and rule policy
ii. In the Calcutta meeting 1905 Surendranath Banerjee gave a call for the

boycott of British goods and institutions.
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iii. On 7t August 1905 at Town Hall meeting in Calcutta, a formal
proclamation of Swadeshi movement was made

Which of the statements given above is/are correct?

a.ionly b.iand iii only c.iand ii only

d. i, ii and iii are correct e. Answer not known

Ij]ﬁlﬂ@_l@LD %H}@IEBEBGG)GW SHT601b.

1. 1905-@60 GumGsmereniu’ L eaumsll  Lflelener oymdGoowifler  IfgaTenLd
Careiensd@ WsF Fpbheh o HTIEIOTEGLD.

1. 1905-860 BOLOUBB C&TeLHSHT LOTHT 60 &CIHATHTS umeTed Lfligead
QUTHLBMEMULD HBIISTRIGMETUD LBHHMIHE SImPLILONBSHSHTT.

iii. 1905 @60l 7-Q60  OBTLSHSHHT HEJ DPESH60 HOLOUBB  &nl L HF60
F8xd Awdsd GBIHH (Werpwmel DSl eupBISLILLL .

GuoBaemtL_supmlen Ffluwimerenel 6leneu?

a. 1wl @B b. i wBmib iii wr Gib C. 1 @b ii o G

d. i, ii pmid iii sMwmeng  e. alen OaMuwalevamev

96. Second Round Table conference of 1931:

1. It was held during the reign of Lord Wellington as the viceroy of India.

2. It was represented by Gandhi on behalf of INC. (Indian National Congress).

Which of the above statement is/are correct?

a. 1 only correct b. 2 only correct c. Both 1 and 2 correct

d. Neither 1 nor 2 e. Answer not known

&.1. 1931 b Syemigent @yewiLmeugl eul L Gengy LomHTH:

1. GeuedmsLel Ly @bdHwneler eeueromwng G mbd Curgl HeL GLBBEI.

2. @b Cxdlw stmsyFlear LIFHHHUTS SThHEH SDOTHTLIQE &SevhdH 6ClHTeuTLTiT.
GuBsaiL  FmBuIsailed 6%/ elenel FMuimeieneu?

a. 1wl @w b. 2 1 @b c.1 wBmibd 2 Byewi(hd

d. 1ib 9levev, 21D &i6L6V e. alewL OxfNweaisbensv

97.  Which of the following statement is correct regarding A.O. Hume?
(i) In 1883 and 1884 Hume acted as an advisor to the Viceroy Lord Ripon.
(if) He closely associated with Theosophical Society.
(iii) In 1884 he formed the Indian National Union.
(iv) The object of the Indian National Union was ‘Indian Nationalism’.
a. (ii), (iii) (iv) are correct (i) is incorrect
b. (i), (ii) are correct (iii), (iv) are incorrect
c. (i), (iv) are correct (iii), (iv) are incorrect
d. (i), (ii), (iii), (iv) are correct
e. Answer not known
SphBHMIL SaBmiselled 6.q. aprwjeno UBBl FHwTer sgBmI wmrgh?
(i) 1883 wmmId 1884 60 ewruyd, Miwer UgyelBe owGenssyrs ueiyfibaTT
(ii) WybwepTer Fenu 6B SiOWLGUTH OBHRSW CHTLTL CEHTEmIQHHSHTT
(iii) 1884 &0 @bFw Bzapdw weiwener QUIDLIHSHTT
(iv) @bdw Capdlw welwelear Gorédsd @bHw Capdwirs SmHbDHHI.
a. (ii), (iii), (iv) sfwren saBp () Uzl BB HeupTeng)
b. (i), (i) epm sfwreng (iii), (1v) snBBI HeupTerg
c. (i), (iv) smpm sflwreng (iii), (i) sBm seupTaNs
d. (i), (ii), (iii), (iv) s=mom sflwmerg
e. alewL OFflwaisvensv
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98.

99.

100.

101.

Who laid the foundation of Radhakrishna high school at Jagraon in 1914?

a. Bipin Chandra Pal b. Chittaranjan Das c. Lala Lajpat Rai
d. Sardar Vallabai Patel e. Answer not known

1914 &oub suewip  WTEGrmefled o 6o  JUST  SHHOgewl 2 WIHlensv  ULsiTerilenul
mmellweuT wimr?

a. e FhHumed b. fsar6haer e

C. 6UTEVTELERLIE MUl d. &gt eusdeoumut LI GLed

e. alewL QFflwaisvensv

Which among the following statements is/are correct?

1. The first Political Organisation of the Bombay Presidency was the Bombay
Association

2. The first Organisation in the Madras Presidency was Madras Mahajana
Sabha

3. Mary Carpenter established Poona Sarvajanik Sabha on the advice of Raja
Ram Mohan Roy

Choose the correct option form the following

a.1only b. 1 and 2 only c.2and 3 only

d. 1, 2 and 3 All the three e. Answer not known

Leteumd opidamauied 6gl/ eTeneu Filuimeng)?

1. wbumul LNy AL asrAluf 6ot (LPSH60 SIS0 [l m316v 601 SenLDLIL] umb@u
9ICFTFHBiargett.

2. Guwigmed LFdELerlullest (LpFHed SienLoLiL] GO JTerd LDSTEIeN LT

3. Gl sniCueniit @gmegmymd Gorsemgruiler o Comsmenuiaiig LT  FTeuggeld
Fumeney [ mIe eoTiT

Garpssiul L almiunseiedmbal Fflwmer alplusbmsd Cohje GFuis:

a. 1 wBGw b. 1 wBpd 2 1w GHGW c. 2 wBmib 3 w GGW

d. 1, 2 oBpid 3 Gemeu cpeipid €. el OFfwaicoensv

The concept of “The Safety - Valve theory’ of Indian National Congress
originated from

a. W.C. Bonnerji b. William Wedderburn c. Lord Dufferin

d. C. F Andrews e. Answer not Known

AbHw Cxrdlw stmdyeder ‘UTHISTIL euTedey GHTUTH’ 6IB HHHSH M (HHH
o _(meumegl?

a. Leyy &. umenied b. aflebefuid Geur fLiTest c. rufler Uy

d. f. e gy eperd e. ol Oaxfwealsdensv

Arrange the following events in chronological order

(i) British India society was founded by Dadabhai Naoroji

(if) Dadabhai Naoroji was elected to the British House of Commons

(iii) President of the 22nd Calcutta Congress session

(iv) President of the 9t Lahore Congress session

a. (iid), (i), (i), (iv) b. (i), (i), (iv), (i) c. (i), (i) (i), (iv)

d. (i), (ii), (iv), (iii) e. Answer not known

LevTeu(hHeU6sTeUMBemM  HT6V6UT 63I(LPemBLILIBSHSHISH.

(i) sremumu GpenGrred UMl wed BHHw FrsHms® BniedertT

(i)sramuryl OpenGrmed WMl yed ameed L. .11 &TD6eNSEE BHTHOHHEHBSLI LI LT
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102.

103.

104.

(i) GameLEHHTaND BLHdH 22 aUHI HTHIGTED LDTHTLIQET HEN6V6T

(iv) eurgmfled BLBS 9 6ugHl STHIETeD LOTHTLIQET HeNeVEUT

a. (iii), (ii), (i), (iv) b. (i), (iii), (iv), (ii) c. (ii), (iii), (i), (iv)
d. (i), (ii), (iv), (iii) e. alenL O fwaleoensv

Consider the following events:

In 1885, Indian National Congress was established with the objectives
1. To promote Indian Nationalism

2. To establish a closer relation between India and England

3. Toremove unjust and harmful laws.

4. To remove the discontent among the educated classes

Which of the following is correct?

a. 2 and 3 only b.1,2 and 3 only c.1,2and 4 only

d. All of these e. Answer not known

&6 ampULIL (BeTeTeuBenns  BHev6Tea|Lh:

188510 oyemih @pHHw CaHrFlw smmdyed dev GNSCaTEHL 6T gRUBHSILIL L SI.

1. @bsw CadlwdHms UFLILSHMD

2. @bHwumeyseh QrFThHIBGL QmLCw OCEmEEer OHTLTmL  gBLBSHDHS
Q& T6lTETH&H60

3. GpiTwempuwTel, SHSLBISSHEHIQU FLLHMS HbHEHH0

4. seval sBB W&HHMMLEW DF(BUSH DS SHm6TEH60

BGBs0 FamLILIL (heiTem SnBBIHaT60 eTeney &iliTeTeney?

a. 2 @b 3 (B b. 1,2 wBmib 3 wL B c. 1,2 wpmib 4 w (B

d. 8men SimEISHHID e. alewL Oz fwaisdensv

With whom can we associated the following quotes?

“Be Educated, Be organised and Be Agitated”

“I like the religion that teaches liberty, equality and fraternity”

“Life should be greater rather than long”

a. Dr. Babasaheb Ambedkar b. Thanthai Periyar

c. Karl Marx d. Mahatma Gandhi

e. Answer not known

BHHTEID eTeUHLT - AbhgH CoBCamersenst QHTLTLIBSHSH60MD?

“sevalwpley GUXBI, DEDWUUTES eaIBl Her, HenThosh”

“BTeST  al(HLOYD  OFHOTRIH  SFFHHSHTWD, FwHHeD, FCHTHISHIHIMD LSuIaBeNB

Bunglé@b”

“aumpsbenad eaUgk o wifilwgdtes Bmad CauamiGB Hal] HeToTaHTE HIeV60”
a. LA&LT. umumsmdll oibGusHsait b. ghmg GufiwimT

C. N6V LDMTE6MD d. wsTHWT BTHS

e. alemL G fwalsvenso

Which one of the statement is incorrect regarding Gokhale?

1. He started “Servants of Indian Society” in 1905

2. He went in to South Africa and helped Gandhi in his movement against

discrimination based on colour.

Gandhi accepted Gokhale as ‘Political guru’

4. Gandhi described Gokhale as diamond of India, the Jewel of Maharastra and
Prince of Workers.

o
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105.

106.

1,2,
1

3, 4 are correct
, 3 are correct only 4 is incorrect
.1, 3, 4 are correct only 2 is incorrect
.1, 2 are correct 3, 4 are incorrect
. Answer not known
el FmBpIBeied CamaBeenw UBNS SHeuprer FmBml 618I?
CamaB “@hAHw uelwmenT HLPHD” 61eIB SienoLienLl 190560 gBLIBHSHS e

Ao OFHeir o lflsaralBEg OFam HBOBlmw aHTHH STHAHUIL T Senenih
LIeuoTuIm3n3] 6OTITIT.

&MhdH CaTaBeoenwl HIH ‘OIdluled GHeuTd gmmidh OCETeLTT.

S CamsBevama B wimeles AULD, DS TOMQTTEN 6T BN,
Oambleoreniaeiler E6eMeuTFea 616Nl 6UT6wNSHSHMT

a. 1, 2, 3, 4 saBmIseT Fiwmeienel

b. 1, 2, 3 mBuser sflwnaienel 4 FBHI SHEUBTEIS

c. 1, 3, 4 smBpIseT FAwmeaiMel 2 BBl HOUBTEIH
d
e

LN

NG a0 T
N

bl e

.1, 2 aa@piset sflwneiemner 3, 4 SaBBISET SHeUBTEIH
. allewL G flwealedenso

Which of the following statement is incorrect regarding Maulana Abul Kalam

Azad?

1. He was born in Calcutta

2. He was the editor of the Magazine called ‘Lisan ul Sidiq”

3. He published a journal namely ‘Al hilal’

4. He was elected the president of the Indian National Congress in 1923 and
1940

a. 2, 3 are correct 1, 4 are incorrect b.1, 2, 3 are correct 4 only incorrect

c.1,2,3,4 are correct d. 2, 3, 4 are correct 1 is incorrect

e. Answer not known

BLDBHEUTL aamguaamﬂa) GILoETEVTENT  DIL|VHEVTID SLFTEH LB HeUBTeT FnBml 61517

1. QL6TeUTEIT SILELHEVTD HLFTSH HELBHSHIHTAN6D LIBHSTT.

®euT ‘edgmer 2 60 FHHHE eem uSHfbensule uHIUTARAWT Speum.

BT Sle0&HleVTeL 6T EFHemp Geuerfu Lmiy

Bait  @hHw  Capflw  smmSFaLSE 1923 wLB@ID 1940 oD SLemIHH6TEL
HmeoalIns CHTHOHHSLILILLTIT.

a. 2, 3 sm@piseT gilwmeremey 1, 4 HeupTerene

b. 1, 2, 3 spuser sflwmaiene 4 auFh BB HOUBTEIH

c. 1, 2, 3, 4 spmmen gFfluwmereney
d
e

Sl

. 2, 3, 4 samBpise sflwneienel leugl BBl HUBTEIS
. allewl g flualsvenso

Which one of the statement is correct regarding the Subhas Chandra Bose?

1. Bose joined the freedom struggle under the leadership of C.R. Das.

2. 1921, he organised demonstration in Calcutta to protest against the visit of
Prince of Wales.

3. He boycotted the Simon Commission in 1927

4. He served as the Secretary and President of Bengal Congress.

a. 1, 2 are correct 3, 4 are incorrect b.1, 2, 3, 4 are correct

c. 1,2, 3 are correct 4 only incorrect d. 1, 3 are correct 2, 4 are incorrect

e. Answer not known
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107.

108.

£gg<56zszm_ FBuiseied autad Fhdy Curemerv UM Filwmer Fm@mml 61g?
gumey by  Cumed, H.oyr.  Hred  FHwevewwouled  @HHw  alBHHemev
GuIM L S&60 B enemibHTT.

2. 192160 Geusberd @emaursT HLBSHIHTOYDHG aUmHmS Ufbsd Curg  ea1diTshal
(PSSO LT

3. 192760 w6 SO S6uT Lim& a6t

4. oumBTen SRS TNI60 OFUIGOTOITHAD HENeVUITEHAD LS 6UB SHBTT.

a. 1, 2 &M 3, 4 seupTeIz

b. 1, 2, 3, 4 sflwrer gnBm

c. 1, 2, 3 gflwnenr smBml 4 SHeummen Byl

d. 1, 3 sflwner ea@Bpl 2, 4 HUBTET SnByI

e. alewL Gaflwailsdenso

From the following statements state which, statements are correct or incorrect
Statement I : The Dandi March was to cover 295 kms from Gandhi’s Sabarmati
Ashram to Dandi on the Gujarat Coast

Statement II : Gandhi set out on the march and Reached Dandi on the 25t day
(i.e) 6 April 1930

a. Statement I and II are incorrect

b. Statement I is correct but II is incorrect

c. Both statement I and II are correct

d. Statement I is incorrect, but II is correct

e. Answer not known

SpHHem aBmIBene0 61 &, 61& Heuml eler GMILLIL ey

&pm 1 : smhdugsellear FuTod) ATLSH0 BHbHSH GHRITH  SLBHOFEWMTLD
2 oifen  Hewilg euewy 295 &HGeom LT OFHTemeveysHE SHewlgUITHHMT  HEML OB
BBbHsS)

gwpm 11 D BIHHWIHET WTHHdIWLTS  [BLbSH — Hewngedwl 256ugkh  Brefled
SIFTeugH 1930 glged 6 B0 OCFSIBI DML [HSHTIT

a.a@pm 1 sapm I seumi

b. By [ #f syemed gamm 1 Heum

c. &pm I af smp I &

d. sapm | seum sypemed gamm 11 &

e. allewL Gaflwealedenso

Assertion (A) : Jawaharlal Nehru's regime is the golden period for the

development of modern science

Reason (R) : Atomic research and space research were started during his

administration

a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. Both (A) and (R) are true and (R) is not the correct explanation of (A)

a. (A) is true, (R) is false.

b. (A) is false, (R) is true.

e. Answer not known

amp (A GCrm o désmeod  Helar  opfialuwed  euenTFAuler  CUIBSTeLLD
QLG D.

smgewid  (R):  oem  oumuisd, alemiOeuel  opmuisFdl  Cureiseney  Seurflest
S FwleCurCs o (HeuTshsLLL L ene.
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109.

110.

111.

a. (A) wpmpb (R) @rewid af, Goaub (R) eemug (A)-elBg gflwmer alenéslp.

b. (A) wmgiw (R) @rewi &f, oemed (R)  eeug  (A)-ealbg — aflwmer
aNl6NTEBLDGVGL.

c. (A) afl, spemmed (R) seum

d. (A) seum syemed (R) &,

e. allewL Ozfwelsdenev

Who was acclaimed as the “Lokmanya”, due to his invaluable services to the
Nation?

a. Gopala Krishna Gokhale b. Bala Gangadhar Tilak

c. Sardar Vallabhai Patel d. Lala Lajpat Rai

e. Answer not known

alemeuoHLBB CFemeusmsenmed ‘Geomaiomediul’ eTedrm LTFTLLLILIL L 6uT wimiT?

a. Garumen Fmagewr CareGev b. utev FBRBTHT HevHIT

C. &M euevevLITUI LI GL 60 d. eumeom euEBLIGTTU]

e. alenL  GgMwalsdensv

In which among the following is considered as the First Political Speech of
Gandhiji?

Banaras Hindu University Speech (BHU)

Dandi March Speech

First Round Table Conference Speech

Quit India Speech

e. Answer not known

SpdaTamid  CeTBOLTdesefled  aTHHWIgHefen  (PpH0  SIFFed o _emF 66
LUSLROLBDS! 15i?

LeTmyerd @h&HI LILHM60H SIS FmBoLTe,

Sewly WSS CFmBouTey

WFHeL UL Guwengy IHTLG CFTBOLMSe)

GeusitenemuiGen GeuefCup Busbs OCFTBOLMLe]

allewL  OFMwealedenev

an o

oan o

Match List I (Party) with List II (Associate / Founder)

List I List II

(Party) (Founder / Associated with)

A. Independent Labour Party 1. C. Rajagopalachari

B. Bharathiya Jana Sangh 2. AK. Gopalan

C. Swatantra Party 3. B.R. Ambedhkar

D. Communist Party 4. Deen Dayal Upadhyaya
A B C D

a 1 2 3 4

b. 3 4 1 2

C. 4 3 1 2

d 3 4 2 1

e. Answer not known
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112.

113.

ulwed I b (opdwed &) ulpuwed II (HmeveuT) o LeT @i @, ghwmer
allewLemw BxiTey GaFuiwe|LD.

U iguied I U iguied II

(sL_8) (BemevaulT / o mIiler)

A. szbAT o _empliurent L& 1. d. greg@smumeondami

B. unpdw e Fmisd 2. 6.8s. GamLimevest

C. sgphdys ol d 3. U.au1. 21bBugHsT

D. sbwefedr s d 4. St HWTEL o UTHWITUI
A B C D

a. 1 2 3 4

b. 3 4 1 2

C. 4 3 1 2

d. 3 4 2 1

e. alewL OQFflwaisvensv

Who was considered as “The high Priest of Communism” by the Britist officials?
a. EM.S. Nambhoodripad b. M.N. Roy

c. Jawaharla Nehru d. Subhash Chandra Bose

e. Answer not known

Ul 96ed SigviaueuTaeT Wy “HULelFHHE SNV G~ 6IeIBl DIENLDSHSHE0NT 7

a. EM.S. piougfl umt b. M.N. gru C. meauameursd Gr(m
d. sured FiHEyGumed e. alew OxMNuweaieoensv
Assertion (A): V.O. Chidambaram established the Swadeshi Steam

navigation company.

Reason (R): He wanted to oppose the monopoly of the British in Navigation

through the coast.

a. (A)and (R) are true and (R) is the correct explanation of (A)

b. (A) and (R) are true and (R) is not the correct explanation of (A)

c. (A)is correct and (R) is wrong

d. (A)is wrong and (R) is correct

e. Answer not known

F&Bul (A): ave_. dsburd &8s &L HBIAISHMSHS CHTL RIS 6.

amyenid (R): @pHws sLpBsomy amaiusdHed SymsGsowimsefler  (pBpiflenoemu

ST CTHITHSHTIT.

a. apy (A) wspd smyeod (R) #f, stmpewid (R), (A) sgepBenp alend@amal.

b. (A) &mpm wBpw (R) smewnd oM, oemed (R)  smgeoid  (A)  smpeoms
allendsallevemev.

c. (A apm gf, (R) smewid sHeuml

d. (A) apm seuml, (R) smyewid &

e. alewL Ggflwalsvenso
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114.

115.

Arrange the following Newspaper's and Journals of Thanthai Periyar in
Chronological order.

1. Paguththnrivu 2. Viduthalai 3. Kudiarasu 4. Puratchi
a.4,2,3,1 b.3,4,1,2 c.3,24.1
d.2,31,4 e. Answer not known

SdbsauiaBpeT  FHhHewd Ouflwmilear QFUISHHBHTeTHMETULD, BOBHLHMETUID  HT6V
wepliuy  auflengILGSHHIS.

1. UGSV 2. alBHmev 3. GUWIG 4. Yy gl
a.4,2,3,1 b.3,4,1,2 c.3,2,41
d.2,3,1,4 e. el GaMuwealevemev

Read the following passage and answer the item that follow. Your answer to

this item should be based on the passage only.

Passage

The creation of the Swadeshi Steam Navigation Company marked a spectacular

development in the history of the freedom movement. Eager to revive the naval

tradition of the Tamils to provide practical training in ship building to the

people and determined to challenge the British Monopoly of maritime traffic,

V.O. Chidambaram announced his decision in 1906 at Shiyali to created a

Navigation Company.

Which one of the following is best implied in the passage?

a. The steam Navigation Company earned a good income in those days which
marked an impressive development.

b. The creation of Swadeshi Steam Navigation Company stopped the British
Monopoly of Maritime Trade.

c. V.O. Chidambaram was dependent on taking any decision with regard to
Navigation Company affairs.

d. The restoration of Tamils knowledge in the Naval tradition was the objective
of the creation of Navigation Company.

e. Answer not known

eiteu(hld LUSHSHewWl LgshSHl Lleeurpd aleamalBg udeveldsalb. @DbHFH LIGDH BTt

2 msel uFHed uGHHUlar SiglienLufled WL GHOW AmHH Gouewi(BLD.

LSS

§6xd  eved CralCsager HBplouaISHar o (HauTHED &HHAT BUSHHH 6

augeummMled @b SIBLSWTET  euemT&Fdemuids GBNSSH. SOIDTHaler  SHliLed &L (HLD

umgbufwgHeams L BEGD SYTeuHH60 WWHBEHEGHS S &L (Heugled HevL (PenmLl

uWIBd oefssan. sLed CursGarsdHdeo LMl yad gaurssdng Feams alBeaudled

2 pHwMsad eaLe FHbugd 190680 adwmelulsd @m CralCsagear Hnuaihemnd

2 (HOUTHGHUSBHTRT HTH (LPIgenal SIS SHSHTT.

LeleumeussiauBmled e1gl uUSHFHuUled Hpliunssd GBULILUILGEBE?

a. eleldb GralGsage HHEURID SiHH BT H660 V6D IHLTOIHMS FLIQUISH. @S
QH FTHBHIQU aueTTEFHAMWS GHBSHHH.

b. &B8sH evwed CralBsageat @IDOLTIUIGT o (HauTdHsD HL60 auawiasHde0 LN 1gad
JHCUTHSHMS HBISSHUII.

Cc. oo o2 . dAzbugd CralCsager Hmleue aleusTImIGaT QHTLTUTS 61hHS (LPYeneuuDd
GTBLLUSHED OBBEUTHMETF FTTHE (HHSTT.

d. siued s G umpbuilwsded swwTselear opflensy  BOLBLILS  CHalCsagemm
BRIaTHmEH 2 (HeuThEHWHer CHTHBLTEGLD.

e. alewL Gzflualsbenso
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116.

117.

118.

1109.

120.

121.

Find the difference between simple interest and compound interest on Rs. 1,200
for one year at 10% per annum reckoned half-yearly.

a.Rs.250 b.Rs.3 c.Rs.375 d.Rs.4 e. Answer not known
oeihoHG 10% auly eispd T euihd@ h. 1,200 &G Ul ly SO SUeIBGEH @b
(DB HETHHLLTL HeleUl 19bHGD, Tl B UL IgHGHD 2 6Ten alHHWTFID HTeu.

a. p. 2.50 b. em. 3 c.em. 3.75 d. . 4 e. el GaMNuwealeoemev

Stephen invested Rs. 10,000 in a savings bank account that earned 2% simple
interest. Find the interest earned if the amount was kept in the bank for 4 years.
a. Rs. 200 b. Rs. 800 c. Rs. 500 d. Rs. 1,000 e. Answer not known
GroleLIGH  eTeTUGUT Henidghl eumdulen GFiliyd Sewrdbded . 10,000 & 2% Helaul i
aipHHe0 (PWHeSH OCFUISTT eleiev, 4 SuewihHelar (Wigaled ST QUBID SHeleul 19
61611616167

a. ap. 200 b. em. 800 c. em. 500 d. . 1,000 e. e Gafwialsvenso

The difference between the compound interest and simple interest accrued on
an amount of 18,000 in two years is ¥405. Then the rate of interest per annum is
a. 12% b.15% c. 18% d. 10% e. Answer not known

Bm aumLmsaico 8,000 Wsrenr i eully, sHaleuly SiEwaBfer elbHwmed
#B05 arafled oL 1Y @IHID

a.12% b. 15% c. 18% d. 10% e. alewL O fNwaisoensv

Find the rate of interest if the difference between C.I and S.I on ¥ 8,000
compounded annually for 2 years is ¥20.

a.5% b. 10% c. 15% d. 20% e. Answer not known
8,000 55 Byewih WWHBEHHSG DHDLSGWD gl B QU 9SG, Hell eI I19dhEGLD
B B o _eitern alsHwimsd VO erafled au'ly eI @remis.

a. 5% b. 10% c. 15% d. 20% e. alewL OxfNweaisoensv

Find the principal on amount ¥11,800 at 6% per annum for 3 years being simple
interest annually.

a. 8,000 b. 9,000 c. 10,000 d. 39,500 e. Answer not known
cpaprenipseiied 6% Halaully aisd Gwrss OFTens AU1,800 oelsE@n DiFmevd
BT,

a. ¥8,000 b. 39,000 c.¥10,000  d.3¥9,500 e. allen Opfweaisdensv

Which of the following statements about Bhagat Singh are true?

i In 1930, Bhagat Singh attacked the Chittagong armouries.

ii. In 1929, Bhagat Singh and B.K. Dutt threw a smoke bomb inside the
Central Legislative Assembly Hall.

iii.  In1925, Bhagat Singh formed Hindustan Republican Army

a. ii only b. i and iii only c.iand ii only

c. ii and iii only e. Answer not known

SPHHTEID FBEpISeiled LsSHFAM GHTLTUTer Fflwmer gmBenpd el nis:

1. 1930-@60 UBSHFH FULSTH QUIBL LIDL HHNHMSB SHTbd Tt

ii. 1929-860 usGHFAB B.K. ss581601 Senenibgl HHW FLIIGLIme 158 &6wNiB
aidlerTi.

1ii. 1925-gui0 SLewIh LSSHFMm EbHIOSHTE GLQWTEHI LenLenul HinieNer.
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a. (i) w' @ & b. (i) wmmib (iii) w G &M
c. (i) wmpd (i) w @ &M d. (ii) wBgd ({ii) w' G &
e. alewL OFflweaisdensv

122.  Choose the correct statements:
1. Bharathi edited a Tamil weekly ‘India’. which became the voice of the
moderates.
2. Bharathi participated the Surat session of Congress in 1907.
3. Chakravartini, Swadesamitran Newspapers was edited by Bharathi.
4. G. Subramaniya Iyer Published Newspaper The Hindu.
a.1and 2 only correct b.1,2 and 3 only correct c.2 and 3 only correct
d. 2,3 and 4 only correct e. Answer not known
Fllwmenr gnBnIbHmeNd HemrLls.
utggulles ‘@pAHwm’ eumy @ Wseaurs CapFlweundHseler GIeoTds HBWDHDHIHI.
1907-860 GJSH STHRISTD LOTHILIQEL LIMTH &HevHSHIOSHTERILITT.
FayalidHel, F8haSHT6a Curams usHSHfeamsseisd LTTE LewiwTBsleTT.
& Bha usHfsmaamu GeueiulLeur G. aliFewiul gQuii.
.1 By 2 wiEn gi b. 1, 2 wBmd 3 W G0 &
2 wBpb 3 wlEn gi d. 2, 3 By 4 W GO &
. allewL O flwealsdenso

0P AW

123.  Which of the following pair is/are not correctly matched?

1. Champaran Satyagraha - 1917

2. Kheda Satyagraha - 1927

3. Ahmedabad Mill Strike - 1918

4. Rowlatt Act Satyagraha - 1919

a.Only 1 b. Both 2 and 3 c. Only 2
d. Both2 and 4 e. Answer not known

Uedteu(pLUsuBmIeT QuUThbHHTH Gamg 61g?

1. smbUITeNT &FSHHWITHTHLD - 1917

2. Caam FHHALTSHTHLD - 1927

3. SIBSHTUTS 6L GouemeublBISHFLD - 1918

4. geyeol. FLL FHHWTHTHLD - 1919

a. 1 @ b. 2 wipb 3 SEEGDL c. 2 1 {Bib
d. 2 oBpid 4 Bwer @yewi(Hid e. alewL OFflwalevensv

124.  Name the editor of a Tamil weekly “Viveka Banu”
a. V.O. Chidambaram b. Kavimani Desiya Vinayakam
c. Maraimalai Adigal d. Subramania Bharathi
e. Answer not known
‘@lCGoust Ut a1 SO ey @Hlest LSLLTSfwiy
a. aue_. HAzbugd b. sealwenl Gsdlw elpTuisd
C. LDGMDBLOENEY DIIYBHGIT d. stgwemiur Lmyguimy
e. alemL Gaflwailsvemso
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125.

126.

127.

Arrange the following Events in Chronological order

1. Navajawan Bharat Sabha

2. Bhagat Singh joined Hindustan Socialist Republican Association

3. Bhagat Singh hanged in Lahore Jail

4. Bhagat Singh and B.K. Dutt thrown bomb in the Legislative Assembly Hall
a.1,3,4,2 b.2,1,4,3 c.3,14,2
d.4,3,2,1 e. Answer not known

&6 CBTEHSLILL (BHeTeneuBens 60 auflenalILBSHHIs.

1. Beuggeument LM &Fum

2. @balevster Caradwels Guuwirs Siemwliled ussHA® CFTHSHTT.

3. usSHFMH TanT Fenpuled HTeaedL UL L.

4. uaHIRIEGL 1.05.55HID WHHU FLULIOSBSHH T BH &HewiB aidfmmToel.

a.1,34,2 b.2,1,4,3 c.3,1,4,2

d.4,3,2,1 e. alewL OFflwalevenev.

Choose the correct statement:

L Periyar EV Ramasamy was the founder of the Self-Respect Movement.

II. People hailed him as “Vaikom Veerar” (Hero of VaiKom).

III. ~ He frequently wrote columns in the magazine under the ‘pen name’
“Chitra Puttiran”.

IV.  He also supported B.R. Ambedkar’s demand for separate electorates to
scheduled castes.

a. I and IV are correct b. IT and III are correct

c. I, I and IV are correct d. Il is correct

e. Answer not known

Fflwrer gmBenpdh Csje| Gsuis.

L. Ouflwmy F.Geu. @ymosmd sw wiwmms BuSsSmBHSH CHTBBIISHSTT

IL IDHH6IT DIRUM] ‘MAUBHBID AT 6T6dr LITITL 1960TT

I1I. Quilwny ‘AHFHr usHTer eaid Lemet GQUWIFleD &L BHENTHEmeNT 6T(L)IH 6T

IV.  B.R. omBusasnt oleuiseien @BSBLULULL  DSHHEHHBTN  H6lHCHTHe0
CaTeHds Camfldmasmul GuwmmD DB SHBTT

a.l wppp IV & b. II wimnp 1T &f
c. I, II g IV &f d. II & e. alew Ozfuiaievenev
Assertion (A): B.R Ambedkar launched Mahad Satyagraha

Reason (R): He wanted to Unite Hindus and Muslims

a. (A)and R are correct (R) explains (A)

b. (A) and R are correct (R) does not explain A

c. (A)is correct (R) is wrong

d. (A)is wrong (R) is correct

e. Answer not known

&Bm (A): .o owbussT wassh FHHWTHTSEHMBSH OCHTLHISITT.
as1gewid (R): QeuT @bgHidbsen OBHID (LPerOeSIDEHMET Q(HHISeNenThE  (LPUIGHTBITT.
(A) wBpid (R) smeud app &f (R) simewd gpes alens@SBasl.
(A) =pp wppid (R) smewnd #f (R) smyeoid gapens alensseailsoanso
c. (A ampm afl (R) smyewid sHeum

d. (A) &Bp seum (R) smemd &

e. alewL Gzflualsbenso

IS
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128.

129.

130.

Match List I with List II and select the correct answer using the codes given
below:

List I List II

A. Vinoba Bhave 1. Police Action

B. Nethaji 2. Noakhali

C. Nizam of Hyderabad 3. Satyagrahi

D. Gandhiji 4. Azad Hind Fauj
A B C D

a 3 4 1 2

b. 1 4 3 2

C. 4 3 2 1

d 2 1 4 3

e Answer not known

Uesteupd Ll iguied I-g9 wlguied I o &1 GumThsHHs

U iguied I U iguied II

A. alGermur uTGeu 1. Gumederd BL 6UQHMS

B. Grared 2. [BTeUsbTeN

C. @spmunsd Hleromb 3. gHHWLTS

D. smpgled 4. 95M5 @bH LT
A B C D

a. 3 4 1 2

b. 1 4 3 2

C. 4 8 2 1

d. 2 1 4 3

e. alemL OFfuaisdensv

The famous Patriotic song “Sare Jahanse Acha” was composed by

a. Mohammed Igbal b. Nehru c. Tagore
d. Syed Ali e. Answer not known

“gnCy meammmBs SIFFT aiB Usp Oump CaHFiuBmI UTLme0 OFHTEHSHDHeT
a. (IpsgGI BHLITeD b. Grm C. STl

d. egws 60 e. el GaMualevemev

Which of the following statement(s) is/are true?

i. Mahakavi Bharathiar was a pioneer of modern Tamil poetry and is
considered one of the greatest tamil literacy figures of all time

ii. Bharathiar was the forerunner of ferocious kind of drama that combined
classical and contemporary elements.

a. (i) only b. (ii) only c. Both (i) and (ii)

d. None of the above e. Answer not known

LNeTeU(BLD eUTHAIID (TS WBIH6M60) 6lened FuTeTeneu?

1. warsal umrHwnT melar SHps salmguler (pearGermg LOBHBILD  euFeuTH3 6T
fmpbs SO Beudsduamdsaied @HeUITEHS SHHBSLILGHMBITT.

1. umgbufl  1OBDID FLOSTEL FnpBIBMET BenemHdH @(H UeSENLOWITET [HTL B 6T

(W&ITGeutmy  LIMFIWITT  SLEUTT.
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131.

132.

133.

134.

a. (i) w’@w b. (ii) wl @ c. (i) wmmid (ii) o BLd
d. GoBesei.  erenauuLle0emev e. allenL  Ggflualsvenso

“In a sense Akbar might be considered to be the Father of Indian Nationalism.
At that time when there was little nationality in the country and religion was a
dividing Factor. Akbar placed the ideal of a Common Indian nationhood above
the claims of separatist religion”.

Who said the above statement?

a. Jawaharlal Nehru b. Motilal Nehru ¢. Mahatma Gandhi

d. Subash Chandra Bose e. Answer not known

“aUImuibgl UTTSHSTL, DIHUMT BhHu CarFlwsbHear FHhHmHwTed HHBH CeuewiBL.
SUHDLU  BTevHFHe0  CHFuBm GBeuTdabd, WS BT LI  Lleneu®BHaibd
FHHWMHOD BAHbHHSH. SSUT H  Lfelmaraursnuosmend SmeNHH, DbHD
BLH  @hHu  CxFAwd  ewn  (WEGaImowiTe  QUTEI G ILTETEHLOEMUI
(PSTMUSSBTT eTaIBl Fnpiluieui wimit?

a. 2euamievred Gm(h b. Gurdlevmed Gp(H C. LDEHTHIOT HTh)

d. sured gpdy Gumerd e. alowL OFHfwelsvenev

What is the name of Bhagat Singh’s Mother?

a. Lilavati b. Vidyavati c. Bhuvaneswari
d. Lakshmi Kaur e. Answer not known

USSHFmISleT STWTT Gl

a. &Sevmeugd) b. algwimeud) . LeuGarerveurf
d. eul &l seyT e. alewL OFflwaisvenev

Choose the ones that are correctly matched:

1. Narayan - Chittaranjan Das

2. Unhappy India - Annie Besant

3. Common wheel - Lala Lajpat Rai

4. Abhyudaya - Pt. Madan Mohan Malaviya
a.1and 2 are correct b. 2 and 3 are correct c. 1 and 4 are correct
d. 2 and 4 are correct e. Answer not known

gilwuns GumTmbSweTeneuBensBsd CHTH0\%HHB:

1. [BTFUlIeDsT - FHITEHFST HT6rd

2. o1 Camidl @bawim - Mrs. sjemefOuges

3. ST &i60 - 6OT6VT 6UXILIZ MUl

4. o lwyzmwim - uewNgL. 1ogHed GLomasest Lomemeuwlm

a. liopmib 2 gFflwrereme b. 2 wBmib 3 Filwrereme

c. 1 wpmd 4 Fwmeiene d. 2 wBpb 4 FhwmeeDel

e. alemL G fwalsvenso

Which among the following journal published the interview of Gandhiji on the
popular historical event “Gandhi Jinnah Talks” that made a serious impact on
society?

a. News Chronicle of Londonon in 1944

b. Indian Mirror, 1944

c. Bengal Gazatte, 1943
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135.

136.

137.

d. Commonweal, 1942

e. Answer not known

FpBHHe0L HHEMOWTET HTHBHMSD GBUBHHUI eUTeOTBHI HHDeuTer “SMbdy  ellevneorT
Bussaunidensd” uppsw  sthdHulear CpTsTeamensy  Lleeumbd  6h% USHHfbHms
Geuerflui’ Lgy?

puperd &Crmerddsd, 6v6wIL 60T, 1944

@bdHluwiet LOTgT, 1944

OQumIsTeL OBaLl, 1943

Seiiaie, 1942

alenL Gz fwealsvenev

o an o

Consider the following

(i) When the general elections were held in February 1937, Jawaharlal Nehru
made a whirlwind tour of the country and carried everywhere the
message of the Congress.

(i)  But the success of the Congress in the elections was very much due to the

efforts of Gandhiji.
Which of the above statement/s is/are true?
a. (i) only b. (ii) only c. (i) and (ii) only
d. None of the above e. Answer not known

LedTeu(hHeuasTouBens  SLUIsH

() ogeufl 1937 @ed OGursd GBzizded BLHSCUTH, euamieored GChwmp BTG
(WPRaUSBID @h GBIl SFBpIiUwWend QFuig srmgyeadear CFuigdlamul  eTmiGLD
Osmeni(h OFeTmT.

(i) ®opuiaib CsTaaled smmdyeier Geubnlseg smhdeduier wpwBdGw smyewd
GuBsv HTEIILGBID FnBmiGeiled FRwimeig/ el 61gil/ 6Teneu?

a. (i) w @w b. (ii) L (Bib c. (i) wbmub (ii) LG

d. GuoBEemt.  erenauuLle0emev e. allewL  Ggflwalsvenso

Identify the Indian who secured fourth place in Indian Civil service exam in
1920 but resigned before completing his probation

a. Anandh Mohan Bose b. Gopal Ganesh Agarkar

c. Subash Chandra Bose d. Chitaranjan Doss

e. Answer not known

S0 1920-60 mELOUBB @hHw Gyl uemld BiTalled [HTEIETUSHTS L LD
Mesa LuiBdl smeod (WlusBE (Wetlbu ofbh% GuTpiienu @gmeglenior ClFuisHeu
a. gehd Gorsesr Gumerd b. Gamumed HCBewIad SIBMTHT

C. auTay FhHdy Gumend d. F5576HQEIHTEr0

e. allewL  Ggflualsvenso

“A day will drawn when the Indians will have to follow the Maharashtrian way
for the regaining of freedom. They will have to copy the example of Great
Shivaji”. Who said it?

a. Bal Gangadar Tilak b. C.R. Das c. Subash Chandra Bose

d. Chandra Shekhar Azad e. Answer not known
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138.

139.

140.

“@ BTl LIBHGWD, AbhHWTHT SHHB6ET SSHHAHTHMS WL L (HHE LDABITARQITSHEN 60T
aflenws  CHTHOSHBLILIT. SlauTHeT 6y FHoureduiem esuPenwl LITUBDBIUTTSET — 6T6IMI
PG wmr?

a. utev sRBTHT Hevasm™  b. C.R. Hmew c. gumey FhHaHly Gumen

d. g8y CoasT a1 e. alenL  Gafwealsvemnso

Which of the following emerged as the hot bed of militant nationalism during
the Swadeshi movement?

(1) Punjab (2) Bengal (3) Maharashtra (4) Tuticorin
a. 1 alone correct b.1 and 4 are correct
c. 2 alone correct d. All are correct e. Answer not known

Bpaswi_aupplel  agl/amen  F8sF  QubssHear  Cura  Faly  CohFweursHd e
Qumig Henons 2 (Holeubsg e ?

(1) uEhaml (2)UMmIGBT6ITLD (3) LSHMITAZIQTLD 4) FHHEGSY
a. 1 w @ g b. 1 wBpid 4 w BD &M
c. 2 wl @b &M d. swaisaid siwmeg e el Gxfwalsdamnsv

Which of the following statements on Vanchinathan are correct?
i.  He belonged to Travancore state of that time
ii. He was employed as a forest guard at Punalur
iii. =~ He was one of the members of Bharata Mata Association
iv.  He was trained in the use of Revolver by Subramania Siva at Pondicherry
a. i, iii and iv are correct b. i, ii and iii are correct
c. i, 1i, iii and iv are correct d. ii, iii and iv are correct
e. Answer not known
amehFprgemer uBpw Weleumd Fappiseaied gfwrareupens CaHTbhosbHoHS.
1. gt 9IGUTmHW HHAISHTHRIGT FOOSHTAIHMSHF BFThHHeuT
. QU Lemeumfled eUeTLITSHISTLILITNITS  Liewfluimindleormit
. UTPS WTHT FRISHIH 6T 2 BIIer
iv.  urewng&FGaMuled alifyweniiw Heureursd HILTHS &G LUIBS QUBBeUT
a. i, iii @b iv & b. i, ii @b iii &

C. i, ii, iii @b iv &l d. ii, iii w@end iv &M e. alen OxMNuaieoensv

Arrange the following events in chronological order:

(i) Swadeshi Movement (if) Home Rule Movement

(iif) Non-Cooperation Movement (iv) Civil Disobedience Movement

a. (i), (ii), (iii), (iv) b. (ii), (iii), (iv), (i) c. (iii), (iv), (i), (ii)
d. (iii), (ii), (i), (iv) e. Answer not known

LedTeu(bHD BlBLDeYBHemeT SHTeO(LPEOBLILIY  LIL1I9UIeV(BS.

(i) 568 Budsd (ii) peirenm & Buidbsld

(iii) @dHalmpWITend BUIhasLD (iv) L wpiy Suissid

a. (i), (ii), (iii), (iv) b. (ii), (iii), (iv), (i) c. (iii), (iv), (i), (ii)
d. (iii), (ii), (i), (iv) e. alenL O fwalsoensv
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141.

142.

143.

With regard to the Rae Bareilly peasant movement, which of the following
statements are true?

1.The Rae Bareilly peasants were treated as serfs

2.The non-cooperation movement provided impetus to the rebels

3.1t took place in the districts of Madhya Pradesh

a.l only b. 2 only c.land 2

d.1,2and 3 e. Answer not known

GruGrel afleugmul QuidsdHHler L Lleeumd 6hHe eUTHSIIRISET 2 auIenLOWITeTene?
1. GruBrel aleugmui®sl SIQENIOHNTS [HL SHSHLILIL L GOT.

2. L Awneniasend@ @SHIHIMPWTmn Buissd @ 2 H8aasHhmd ieldhsdl

3. @l d wiHHw Lg6xss wmeul Lkiseflsd BLHSHA

al w @G b.2 w G c.1 wBmb 2 wi B
d.1,2 wnyw 3 e. alowL  GaMuwealevemev

Assertion (A):The World-Wide Depression which set in late 1929 affected India.
Reason (R): A very sharp fall in prices, particularly of agricultural
commodities and by bringing about a major crisis in the entire export-oriented
colonial economy.

a. (A) is true (R) is false

b. Both (A) and (R) are true and (R) is the correct explanation of (A)

c. (A) is false, (R) is true

d. Both (A) and (R) are true but (R) is not the correct explanation of (A)

e. Answer not known

amom  (A): 1929 @er  Upugduied o meutar 2 eudemTall  LhHH 6o
S WTEneUUD LITSHSHSHSBI.

smyewid (R): elleusmus  GQurplsefer  alenevseiey  Was  sdowwrer  afpsd

gBULB @LBOWLTSHSH gBmIod FTihsH  STevaidhHall  CQUTHMTHTTSHH 60  CLI(HLD
OBmEsYmUIS BTG GUHHH.

a. (A) &M, spemmed (R) seum

b. (A) wppw (Redw @rewibw &M wppw (R) eeug (A olBe afwrer
e LDT(EHLD

c. (A) saum, syemed (R) &l

d. (A) vBpw (R) spdw Gremi M suemed (R) eeng (A)-albe  sfwmen
alle&&LD6060

e. alemL Gxflwalsdenen

Who was the first woman to pay penalty for violation of salt laws during the
Civil Disobedience Movement in Tamil Nadu?

a. Rukmani Lakshmipathi b. Muthulakshmi Ammaiyar

c. Muvalur Ramamirthan d. Annie Besant

e. Answer not known

SUOpEHHe0 FUL LR BusssHHear Burgk o LLF FlLBsmen LEPWUSBSHTH
SIUITHD SLIQUI (1pFH6L GlLIewTLO6mT  WIMTT?

a. (hadLoewil oL &HLOILIG b. wsaeol &l SibenLowit

C. cpausOrTy @umomdysd d. o@el QuFe

e. alwL Ggflwalsenso
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hoisted the National Flag atop of Fort St. George on 26t January,

1932.

a. Tiruppur Kumaran b. Arya (Bhashyam) c. T.Prakasam

d. K.Nageswara Rao e. Answer not known

1932 — b opewip Mevteufl 26 -oub BHrafled Lellsy mniTey CasmlenLuler o Fdufed
Cxpdlwsd Camgenut emsluleulT SLEUIT.

a. FHwUYT GLogeir b. eyflwr (UTejuib) c. T. Gysnsbd

d. K. mr@serveuy gmei e. alewL Oz fuwalsdensv

Assertion [A]:“Vande Mataram” was adopted as the slogan for.
Reason [R]: It was adopted during the Swadeshi Movement in protest against
partition of Bengal.
a. [A]is true but [R] is false
b. Both [A] and [R] are true, and [R] is the correct explanation of [A]
c. [A]is false, [R] is true
d. Both [A], [R] are true, but [R] is not the correct explanation of [A]
e. Answer not known
FBol [A]l:  “eupBs LOTSHJLD” oaiugl  GuAPTL L MSEnHSSETar  (LPPSHSLOTS
IMBBISOBTETEMILIL L Sl
alenéad  [R]: eudismens  Uiflelenenide — adymear  &6xd  BubssHiHar  Curg
IMBBISHOBTETEMILIL L SI.
a. [A] efl eyemed [R] Heum
b. [A] wmmib [R] &f, eeug [Al-efer aflwrer afendson@id
c. [A] seouprengl, [R] gflwmeg
d. [A] wopd [R] gflwreng spemmed [R], [A]-aler gflwmer alendaiosten
e. alenL. GgMwaledensv

“Acharya Vinobha Bhave, was selected as a first Sathyagrahi by Mahatma
Gandhi” after he completed the speech on
a. On 17t October 1939, when he was delivering speech in a village, near

Lucknow.

b. On 17t October 1940, when he was delivering speech in a village near
Wardha

c. On 17t October 1941, when he was delivering speech in a village near
Gandhinagar

d. On 17t September 1942, when he was delivering a speech in a village,
near Kolkatta
e. Answer not known
60 BOLOUBB gl L GHFHe0 o engumBpiw el smhaluwigser upFamiwm elGermum
ut@eu SleuTEHMeT “(PpHe0 FHHWTHTH” ster CHTHOBHBHHSHTT.
a. 1939-0 gewip oHCLmUT 170 B8 waEGamalBg SimE 2 66 e(h
BTG E60.
b. 1940-b oW oBGLmUT 1710 BGxd anTEHTalBE SIHHO 2 66 @Qh
SImog ) 60.
C. 1941-b oewip oHCLmUT 17-b BCHd STHIHBIHBEGH DIHIL o 6i6m 6
SIS 60
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d. 1942-b syewip Qe bur 1710 Cxpd OHTevaHSHTABG BB 2 66l Qb
SImog 360
e. alewL Ggflualsvenso

Which of the following statements is/are correct about the objectives of the All-
India Muslim League?

(i) Immediate reforms should be introduced in Frontier provinces and
Baluchistan

(ii) To promote the interests and safeguard the political rights of the Muslims
(iii) To promote against friendly feelings between the muslims and other
communities in India to the extent possible

(iv) To promote among Indian Muslim feelings of loyalty towards the British
Government

a. (i) and (ii) are correct b. (ii) and (iv) are correct

c. (i), (ii)(iii) are correct d. (i) and (iv) are correct

e. Answer not known

SmaHs  @hHw  (pewedd 68  uBpfw  eeupd  FEmBmIBelled 61/ eTene
giuwimereneu?

(1) eTebeMELLILB  LOTHTEUIRIGET BBID UFledsTaled o Lerg FTHHIHHhIHmen
SIBWPSLILBGSHSUIUL CeuemiBLD

(i) (peveSibseien ordlwesd o flensamen LTHISTHSH CIDLIGSHSHISI

(i) @bHwreled o eifen (eroelibdeT LBEID LB Fpsmsendsd Sent Cuiwimer Bl L
o ITeYBHEHHG 6IHITH BL &HH60

(iv) SLRISI60 SITETBIS S 601 g meor el gieument D Gu0IT6)| 606N b
(wervedibaaienL_Cul o d G ailsgHe0

a. (i) B (i) & b. (ii) w@miw (iv) &M c. (i), (i) w@p (iii) &

d. (i) wBpw @{Gv) & e. allewL Oz fwealsveney

Arrange the following events in chronological order:
1. Wavell plan

2. Mountbatten plan

3. Cabinet Mission plan

4. Simla conference

a.3,2,1,4 b.4,3,2,1 c.1,4,3,2
d.2,4,3,1 e. Answer not known
Lelieuheuld Habaydenen STevauflendlillg @OMISENLOGHALD.
1. Goueued &L 1D

2. Gwemewt. Gul L& LD

3. OIMLFFTM BHTHSSGHWSH HIL LD

4. Fibeor LOTHT(H

a.3,2,1,4 b.4,3,2,1 c.1,4,3,2
d.2,4,3,1 e. alewL OFflwalevenev

Assertion (A): Gandhiji opposed the ‘Communal Award” of Ramsay Macdonald,
Reason (R): Gandhi wanted to get Dominion status from the British in 1932

a. Both (A) and (R) are correct but R is not the correct explanation

b. (A) is wrong but (R) is correct

c. (A) is correct but (R) is wrong
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d. Both (A) and (R) are correct and (R) is the correct explanation

e. Answer not known

Fgmml (A): gmbBs  BosGLmenmmeOl.  eupmISW  auGULeUTT  @&HISHML  BMHEHUIYHENT
TAHTH ST

aryend (R): 1932860 QLMW SpHevensd mSCowTseld Smbas OB
&Mhd  all(HLbL et

a. &pp (A) wogw smewd (R) @yewigw s ouemed smyewid R afwmen
all6&&L06060

o (A) seoup opemed sryenid (R) shwmerg

ampm (A) s opemed smyewid (R) seupreng

aop (A) wospw st (R) @rewGGo s epemmed amyewd (R)  aflwmen
e LDTEHLD

e. alewL Ggflualsvenso

oo o

150.  Choose the right matches among the following:
(i) Bhagat Singh - Reorganization of the Hindustan Socialist Republican
Association (HSRA)
(if) Subash Chandra Bose - Give me blood, I will give you freedom
(iii) Sisir Kumar - Founder of Indian National Army
(iv) Sucheta Kripalani - Advisor to Non Cooperation Movement
. (i) and (iii) are correct b. (i) and (ii) are correct
. (iif) and (iv) are correct d. (ii) and (iv) are correct
e. Answer not known
Ueaeumeusioubmisg el Buw siwmer QuThdsmiIsmens GCHTbHosbaHs
(i) vas dAm - ObaEOSTE Glouwgad S Fuler BIFFEmLLIL
(i) sutey ghdy Gumerd - eTaThE@ BIHDHD CBHTEHBET HTET 2 HBEHHE HHHHID

(iv) s@gar dmuenmeal — @HalmPUITEd BuibssHSe UCTFHT

a. (i) wmpp (i) sfwreareme b. (i) wmpib (ii) sflwmerene
c. (iii) wmmid (iv) sflwrereneu d. (ii) wBp (iv) sfwreaene
e. alemL OFfluaisoensv

151.  Which of the following is not related to Palani conspiracy?

i. Rebels decided to attack Coimbatore

ii. Colonel K. Macalister Launched an offensive attack

iii. Khan-i-Jah Khan took the command of horses

iv. The cavalry of Rani Lakshmibai took part in Palani conspiracy

a. (iv) only b. (i) and (ii) only c. (ii) only
d. (ii) and (iii) only e. Answer not known

SamemrLeuBpIeT Ll FHWmGsorgenemGum® OHTLTLe060T HHDe] 6157
1. yldlwreniisel CamubLSHTeNT SHTHS SHITLOT6 &HSHE0T.

ii. siremed K. waededL T GUITILLS HTHGHHM60SH OCHTL IS GTTIT.

iil. ST6eT-8-MTET6E GHHMILILML G HMeVMIDS SHTHIS GITT

iv. upal gHwunBsorgememuied Fmeni eol &OLTUIET GHHemIll LU UGG CUBBS.
a. (iv) wl@w b. (i) wBEID (ii) WL Bw c. (ii) L (G
d. (ii) w@w (iii) w G e. allenL Gz flwalsdenev
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Regarding the changes of venue of the first session of the Indian National
Congress from Poona to Bombay, which of the following statements is true.

a. Poona was affected by the outbreak of Cholera

b. Bombay had given necessary funds

c. Bombay was a thickly populated region

d. The British government suggested the venue

e. Answer not known
BhHw Cxdw smRISFeIST (WHeo WLIHTEH Uemmaled(had LbUTUISE WOIBBLUULL &
QaTLTUTS eleubld smyenmiseieo Fllwimerg 61gi?

a. yeom &meugm Gmmuflesimed LTSS HHS
b. wburul Cxemeuwiten B&wsalwiensHsal
C. UbUTUI, DHH6T OHTeNdH DIFHH(peiTen LGHWTH EHHHSHI
d. ' wed SaTHIGSH@ITD, DPeBISSIILL LS
e. alewL Gzflualsdenso
Choose the right matches among the following types :
Nana Sahib - General Henry Havelock
Rani Lakshmi Bai - Sir Huge Rose
Tantia Tope - General William
Kunwar Singh - General Acton
a. 1 and 3 are correct b. 1 and 2 are correct c. 1 and 4 are correct
d. 2 and 4 are correct e. Answer not known
Lelteu(heussieubmiied gflwmen QUTHSHSSHMmHSH CHTHOHBEHBMD -
(1) mreom &msLl - Cxgeyed Gamer Gameieomd
(2) pgmewil evl_gOLITUI - g1 ané Grmerd
(3) smhFHlwr CxpmilL- Clgeny60  aile0eVluID
(4) @eieuT &mi - Oleyed SLEL 6T
a. 1 wmp 3 g b. (1) wBgw (2) & c. 1 pmib 4 gl
d. 2 woBpd 4 &M e. alewL OFHflweaisvenev
Match the following:
A. Chittagang Armoury Ride 1. M.N. Roy
B. Kanpur Conspiracy case 2. Benjamin Bradley
C. Lahore Conspiracy case 3. Kalpana Datta
D. Meerut Conspiracy case 4. Bhagat Singh
A B C D
a. 4 3 2 1
b. 3 1 4 2
C. 2 4 3 1
d. 1 2 4 3 e. Answer not known
LledTeu(mHeueasieuBenms  OILUIM(haSib:
A. FALLBE 9B UL SHTEHS 1. ML.N. grui
B. smenym g8 eupss 2. QuEhgdeir Ligm e\
C. oumam &8 aupsHE 3. BeOLIET SHSHBHT
D. 5y g8 eupsE 4. usHIm
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an o
RN Wy
N OB R W o
W N A
W RN g

e. alonL  GgMwalsdensv

The Congress passed the ‘Quit India” Resolution on 8t August, 1942 for the
following reasons.
i. Failure of the Cripps mission
ii. Japanese forces moved towards India
iii. Jinnah’'s demand
iv. To compel the British to accept the demand of Indian Independence
v. To support the Soviet Union
a. (i), (ii) and (iv) are correct b. (i), (ii), (iii) and (v) are correct
c. (i), (ii), (iv) and (v) are correct d. All the above are correct
e. Answer not known
Uelleu(bD  STTE0TRIBEHHETS 1942910 ey H6eO 8  SUD  [BI6lT SIS TS
‘GeusitememuGerr GeueMCpl’ SHToTanshmsd SuiBpiwgi.
1. dfded srais@upalsr Bxmevaiuilermed
ii. @bdHwmemey GBTHE ggliumeiuill LenL &6l LBULL L $HeonTed
iii. Maemaler ComilbamsdaTs
iv. omdGowiser bW  alGsmen  Caridmsenw  gBmies  Gasmeien
SLLTWLILGSSIeUSHBHTS
v. Gamalwsg weiwemer Sis5flLSBETS
a. (i), (ii) wBpb (iv) & b. (i), (ii), (iii) B (V) &
c. (i), (ii), (iv) wBpw (v) b & d. GuBe Pl SimenSHID &
e. allenL  Gaflwailsdenev

Find the compound interest on Rs. 3,200 at 2.5% p.a. for 2 years, compounded
annually.

a. Rs. 132 b.Rs. 162  c. Rs. 165 d.Rs.170  e. Answer not known

. 3.2006@ 2.5% WG euliguied SLETHEOBTH (WewB Ul 19h  HEIHALLILIBLD
wpmBUlled 2 LT BHEHHEH, HMLSGWD Fnl Bl lpenuld HTeNIS.

a. . 132 b. em. 162 c.en. 165 d. . 170 e. alowL Gz MNuwalevemev

The compound interest for principal = Rs. 5,000, r = 4%, n = 1%years, interest

compounded half yearly is
a. Rs. 305 b. Rs. 306.04 c. Rs. 306.5
d. Rs.306.4 e. Answer not known

o160 =5,000, suemi® eu'lp aisd r=4%,n= 1% SLET(HEB6T, DI DeTBHOBT(H

WPB Ul ly HETSSLLLGSHBH eleled (B Ul ly
a. ep. 305 b. e. 306.04 c. ap. 306.5
d. en. 306.4 e. alewL OxfNwaisoensv
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162.

The number of correct answers given by X and Y in a quiz competition are in the
ratio 10 : 11. If they had scored a total of 84 points, then the points obtained by Y
is

a. 40 b. 44 c. 46 d. 82 e. Answer not known

@m alemmy alem  Gumlguisd X wBmd Y euprdw  gflwmer  ellenL derfe
arewiewidbmauier aldsd 10 : 11. SUCUTLIRUNsd SieuTsHeT CTHHWTs 84 LieiTemaeir
CuEBBenT eefled, Y OQuBB LeTellse e1dsHemen?

a. 40 b. 44 c. 46 d. 82 e. alewL OxfNweaisoensv

Satheesh Kumar borrowed Rs. 52,000 from a money lender at a particular rate of
simple interest. After 4 years, he paid Rs. 79,040 to settle his debit. At what rate
of interest he borrowed the money?

a.12% b. 14% c.13% d.15% e. Answer not known

FHOY GLOMT eTeTUeUT @h SL&T eupmld mUfLOmha ap. 52,000 8 @ @il
saleully afHHHe0 sLaMes uBIFHBTT. 4 el SWHH FHagGWTT 79,040 &
Qs CHTMHWTS CFISHH T 6leled e ly eIFHD HT6wIsm.

a.12% b. 14% c. 13% d. 15% e. alowL OxfNweaisoensv

What is the different in simple interest and compound interest on Rs. 15,000 for
2 years at 6% p.a. compounded annually?

a. Rs. 60 b. Rs. 54 c. Rs. 150 d. Rs. 50 e. Answer not known

. 15,000 &H@& 6% e Iliguied SLETHHOBTH (LPeDB ULl HENTHEILLILIL L T6D
2 ONIBBEHHEG HOLEGD SN RESWL S aulldHGD  Aew Guiueten
AlSHHWTFLD 6T6vTen?

a. ep. 60 b. . 54 C. ¢p. 150 d. ep. 50 e. alew OxMNuweaieoensv
Which of the following statements are true about Khan Abdul Ghaffar Khan?

1. Khan Abdul Ghaffar Khan was a Pasthun leader

2. Khan Abdul Ghaffar Khan was known as Badshah Khan

3. Khan Abdul Ghaffar Khan was popularly known as The Frontier Gandhi

4. Khan Abdul Ghaffar Khan was the founder of Khudai Khidmatgars

a.1and 2 are correct b.4 and 1 are correct

c. 3 and 2 are correct d. 1, 2,3 and 4 are correct

e. Answer not known

LelTeu(hLeToUBBIET ST SILIHI0 SUMT STl LUBHBIL 2 6HIenWTel FaBBIdeT eTene?
. &I IUHIED SUTT STl @(h LITOSHITE  Hen6VeT.

2. BTl SIIHIED SUTT &Il LTI QT ST 61D DIeDSHBLILIBGSIBTT.

3. &Ml SIIHIED SHUTT ST 61606M60SH HMhd 6Teml LIFLeOLDTS SHIenDSSLILIBHSDBITT
4. FT6T SIUGHIEO SUTT HTel, GewL S LOTL SHTTer0ensr HimiefluleuiT

a. 1 wppid 2 & b. 4 wBmb 1 & C. 3 wBmib 2 &
d. 1, 2, 3 oBpd 4 g e. alewL Gz fuwealsvemsv

The Swadeshi Steam Navigation Company was registered in the year

a. October 2, 1906 b. October 16, 1906 c. November 2, 1908
d. November 12, 1908 e. Answer not known

F8xd pImald Sliued SWOUT uHley QFUIWLINILILL  [HT6T

a. 9IBGLTuT 2, 1906 b. &&GLmuT 16, 1906 C. [peulbuT 2, 1908
d. meubuim 12, 1908 e. alew GafNwaledenso
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Assertion (A): Gandhi who was resisting any effort to disect the Country had to
accept the demand of the Muslim League for creation of Pakistan.

Reason (R): While observing ‘Direct Action Day’ by Muslim League the rioting
and killing that took place in Calcutta led to a terrible violence.

a. (A) is correct and (R) explains (A)

b. (A) is correct and (R) are wrong

c. (A) is wrong and (R) correct

d. (A) is correct and (R) does not explains (A)

e. Answer not known

ampm (A):  oigeuey BTLeLl  Ufeleer Geuujbd wpwuBdde 6aFmes Smbs
SMHAHWIYH6T (Lper0eSlD e5dha&le LT&lerogmer Camilasemasenul emmTT.

asgewid (R): pevelid  eSdbdlesr  ‘Coylg  BLaugdhME  HTafled  HeLHHHTATE0
SHeLAUTRIBEHLD CBTelTenendEpD HLHEHflen’.

a. &pm (A) afl smgewd (R) speos efena@adnal

b. s&pm (A) efl stewd (R) seum

c. appl (A) seoup smyenid (R) &

d. &apm (A) sl semed smyenid (R) snBens alendsaisamneo

e. alewL OFfuwalsvensv

Which of the following statement /s is / are true?
Assertion [A]: The Aligarh Movement became communal under Sir Syed
Ahmad Khan’s guidance, which helped in the creation of Pakistan.
Reason [R]: Sir Syed Ahmad Khan depended on the British for his activities
and the British brought in Muslim communalism.
a. [A] and [R] are true [R] is the correct explanation of [A]
b. [A] is true, but [R] is false
c. [A] and [R] are true [R] is not the correct explanation of [A]
d. [A] is false [R] is true
e. Answer not known
LedTeu(heusdiouBmIel o1& H(hH HHHeT &ifl?
B (A): T DFWFH DIHW0SH ST HMeVMOUTT &P 2 (HeuTel DEISTT SUIbasLD
AUGLILITHHDSH 2 (HauTdhd LTHaOHTE 2 (HauTaudBE& 2 mIHenen CFUISHII.
sngenid (R): &1 wgwsd oimwsd STer STl W bLoUgSmedEnd@ LI gagreny
gnibgl @mbaTT. LAl gagtT peedd au@GUUaTHHmS OBTemI(H  6UbHH60T.
(A) wipib (R) &f. wopid, (R) (A)dsrer aflwmer alemdatd
b (A) sfl gpemsd (R) seumi
. (A) wBpd (R) &M wppid (R) (A)ssmer sflwmer afsndasosven
. (A) seupl. gemed (R) &
e. alewL Ggflwalsveneso.

o

o n

Find out the correct answer from the following

i. Sir Syed Ahmed Khan, the founder of Aligarh movement, was initially
supportive of the Congress

ii. The Punjab Hindu Sabha founded in 1909 laid the foundation for Hindu
Communal politics

a. Statement i and ii are correct b. Statement i correct ii is wrong

c. Statement i wrong ii correct d. Statement i and ii are wrong

e. Answer not known
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168.

eteupld Fnpmisefledpba Fflwmeiaumenssd CaoHiTey OFuis.

1. 9daMm Buisdmdd CHBmIalss &1 mFUB DBDHIBTE  CFHTL HHSHH60
SRS Tmg Y HNHHTT.

ii. 1909 @60 CaHmBmIaleSlILLL  UehFTl @bhdH FOULTEH BbIHI0SH GLILMITS
ALNSES DNgHHOL L FI

a.gmmul 1 B il & b. sapm i &M il seum C.aqmMm 1 sHeuml ii &

d. amp 1 wBpid i ey e. alen OaMuwaiedamev

“At the stroke of midnight hour when the world sleeps, India will awake to life
and freedom..” said by

a. Mahatma Gandhiji b. Jawaharlal Nehru c. Bala Gangadhar Tilak

d. Subhash Chandra Bose e. Answer not known

2 &EBD 2 PRAGECSTMImHSGD Bhs BHerelre] CrrsHHGm, @hHLUT SHaETEImL L
o WIGIM LSCHTH 1oBBIb &FFHHHT o ewifaLaid alfleHHsesTeTdBEH 66
Famlwieur.

a. LSTHOT SMHE b. meuamimeorsd Gmh(m C. LUM60 SMIBTHJ H60BT

d. surey FhdHy Gumerd e. alowL OFfwelsvenev

The name ‘Pakistan” or ‘Pak-stan” was coined by a Punjab student at Cambridge,
Who was he?

a. Mohammed Ali Jinnah b. Asaf Soukath Ali

c. Choudhry Muhamad Ali d. Choudhry Rahmat Ali

e. Answer not known

‘untdlerogrer’ (o) ‘umd - eugTer eleip GUweny UehaTedl  &miThgH  GaibLiflerd
LI6DSHEMEVBLIDS  LOTCTOUT (@ 1960TTT. SiQUHEDLUI GILILIT

a. (&G 160 2 eTenT b. gl Fayss 16l

C. QFenHAMN (WG D160 d. QzengdM 1eamd 9160

e. allenL G fwailsvenev

It was at this state that the communalists declared that Muslims ‘Muslim

culture” and Islam and Hindus, ‘Hindu culture” and Hinduism were in danger

of being suppressed and exterminated. It was also at this stage that both the

Muslim and Hindu Communalists put forward the theory that Muslims and

Hindu constituted separate nations whose mutual antagonism was permanent

and irresolvable. The Muslim League and the Hindu Mahasabha after 1937 and

the Rashtriya Swayamsevak Sangh (RSS) increasingly veered towards extreme

or Fascistic communalists.

Which one of the following is best implied in the passage.

a. Separate nations for Hindus and Muslims were felt

b. The Muslim League; Hindu Mahasabha and the Rashtriya Swayamsevak
Sangh were responsible for the extreme communalism

c. Communalists of both groups suspected each other for the development of
communism

d. People of both religions realized that country and national welfare were
greater than religion.

e. Answer not known
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169.

170.

171.

Bhs HemeoulleOSHTeT (LPerOIIDHET OBMID  (LPer0eSlD  HEOTFFMILD, BbHISH6T  BHSHI

FHD LBBID BhH HOTFFMID @BHSHSUIULG DUPSSIUBLD DLTWSHHD EHLIUSTS

aGUUTHH6T  SpflaldHerT. (1pervedld  BEID  Bb&H  UGLLTH ST  B(hHeuhld

ugerouy  al@ymsionet, BIIHHIOTET  OBBID  HTHE  (PWTH HalbsHal ChHamisemen

SIMSHHT 6leip CaTiumTl L @hd &L ST STl (PpaieweudHHerT. 1937 &L

IB& @wervedld 60k, @b waTFUT  WwBmId  Jreadlflu eveuwd GFeud  FmISLD

(8yT.6T6e10.6T610) SLFlwemal Haly Slevevdl UTHF auGUUaUTHHmSH GCBrHd Gumalw

(WpemBUlled FTulIfhHeoT.

Leteu(heuasteuBplied 61gh USHSHUled FHApriumsd G IUGSBS?

a. OphIHISBEHHGSLID, (PVSDHEHHGHID Heoll CHFMIBET 2 eIl L 6.

b. eedid &Sk, Sbg ST FuT  WOEBID  Jred Mul  eeuwd GFeud  FHIBLD
g FWemed UTHF auGLLITHSHHMBE STT6RIOTS B(HHSH6.

c. @m & (DS H61T 601 QUG LIL6UT & @ETHLD BLDUY 60T & 6o QUGNTFFHBTH
QUHEUMTOWITHEUT FHGHH &HHeur.

d. wasHmm el BIGL, HEILG  Hoogid Cuflwg eaaums &k  WLHHHIHD
9 GUIT[HGH60NT.

e. alemL Ogfwalsdenev

Assertion (A): Communal riots in India are more politically motivated
than fuelled by religion.

Reason (R): The architects and builders of communal tensions are the
communalists and a certain group of politicians.

a. (A) is true but (R) is false b. (A) is false but (R) is true

c. Both (A) and (R) are true d. Both (A) and (R) are false

e. Answer not known

ampp (A): SGhdwmeled BLSGL UGLILS HeVGUTRIEET, DHHHTE SHTeWILLILI{BoMD
alL, opdlwed o 6 CHTEHL OCIHTERIL6n6L.

smyenid (R): eu@lyeurd LFHLLEISMET 2 (HeUTHGLIUTEET OHeUTH 6UGLIL| 6UTH 6N
LBBID @ GBUILL Sdwed auTdse.

a. (A) afl syemmed (R) seum b. (A) saum syemmed (R) &

c. (A), (R) @yemwiw & d. (A), (R) gyewib Heul

e. alemL G flwalsvenso

Which party observed the ‘Black day’ on July 1947 against partition of India?

a. Indian National Congress b. Forward Bloc c. Hindu Mahasabha

d. Communist Party e. Answer not known

abssd sldl @bsHw Ufleumeisd adime gPeme 194710 Suemienl. ‘&bl SHeoTs’
2155517

a. @b Czpdlw sTmslyerd b. unfreum e C. bl ST FewLl

d. swueferdl s e. allewL Oz fwealsdeneo

Regarding the partition of India, which of the following statements are true?
1. The congress accepted the partition.

2. Mountbatten put his plan for the partition of India on June 3rd 1947.

3. The Act of 1947 provided for the creation of two independent dominions.
a.1only b. 2 only c. Both1and 2
d.1,2and 3 e. Answer not known
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172.

173.

@b Ufalmerd OHTLTUTS LlaTou(hd aUTHSWmIGaTe0 6leneu &iluimeatene?

1. Udflelemeienwids smmigged missisHal

2. Guwener GulLer @baHwl Uflelenerd L sHdHenen geen 3, 194760 6UGHHSMT

3. 19470 sewmihs FLLD Qewih  SSHHT  CLmbelweaisenen o (heutds  eulfl
CFUIHSI.

a. 1 @ b.2 w @ c. 1 wBmib 2

d. 1, 2 wBmd 3 e. alowL  GaMuwalevamev

Which one of the following statements is/are correct regarding Chenbagaraman

Pillai?

1. He hailed from Kanyakumari dist. Of Travencore State

2. He started Bharatha Matha Valibar Sangam

3. He married Laxmibai of Indian National Army in 1931

4. Hejoined the German Army and fight against the English in World War

a.1, 2,3 are correct 4 incorrect b. 1, 2 are correct 3, 4 are incorrect

c.1,3,4 are correct 2 is incorrect d.1, 2, 3,4 are correct

e. Answer not known

Seumd  FapmiEeiev GFewiuayTossT LeTememr uBpPw Ffwmer gBm /  SwBuisei

6T6m6u?

1. @Beair HeanmmeaT srdear sae@luTG wTa LSme b e

2. BT UM WIST T FHGD GEEID iI®L CHTBBIOISST.

3. Bai @bdHu Gz JTameISmS ibe 6ol Giflutenw 1931 6 HHLOID
Qauigl OHTewIL .

4., @air Omgmnomelu umLuled Gaibgd WHe o _eslGuriey  SymIEGCWLIHS:E,
adlpTes  GumymgeoTiT.

a.1,2,3 af, 4 sauprag b.1,2 gfwreng 3,4 soupreig

c.1,3,4 sflwreng 2 w' G sapres  d.1,2,3,4 siwmens

e. alewL Gaflwailsdenso

Consider the following pairs:

I. Gopala Krishna Gokhale - G.A. Natesan

I. Vijaya Ragavachari - Lala Lajpat Rai

III. V.O. Chidambaram - Subramaniya Siva

IV. T. Rengachari - V.S. Srinivasa Sastri

Which of the Pair/Pairs given above is/are incorrect?

a.Iand IV only b. I only c. IV only
d. IT and III only e. Answer not known

BIPHBHERIL DN HEM6TDH  BHeI6T:

I. Gamumev Hmagent GoraBev - 8.g. BOLge

II. elsgw grseurdamiuwmT - GUTGUT 6VERLIG, Ul

III. eu.e . dgbuyd - &lyweniw  FHeur

IV. . prhst&amfwnT - all.eterd. Fallourger Fmerdgifl
Gomsam Qeneanrulled 6% SHeuBTais?

a. lwpmid IV w1 @G b. II w G c. IV ol (b
d. II wppwd I w G e. alewL OQzfwealsoenso
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174.

175.

176.

Match List I with List II and select the correct answer using the codes given
below:

ListI List II

Freedom Fighters Birth place

A. Chenbagaraman 1. Sengottai

B. Madasamy 2. Vathalagundu

C. Vanchinathan 3. Nanjilnadu

D. Subramaniya Siva 4. Ottapidaram
A B C D

a. 3 4 1 2

b. Z 3 2 1

C. 2 4 3 1

d. 1 2 3 4

e. Answer not known
ulwed I wguwed I o Lear GuTmsHH, HCp o 6en QTGN HHESH ghwimer
alemLemdw Ofley OFuIs.

U iguied I U iguied II

&FHhHT CumymiL eijTseT UIBhs SLID

A. QFewTUS]TLOGT 1. QoFmIBsT_enL

B. wrgmd 2. UHH60& 6B

C. aurehFImBrsei 3. BTehd60BT(H

D. astgweniw Heur 4. UL LILmyLD
A B C D

a. 3 4 1 2

b. 4 3 2 1

C. 2 4 3 1

d. 1 2 3 4

e. allenL  Gafwalsvenev

Which English Army Officer attacked the Panchalamkurichi Fort in 1783?

a. William Flint b. William Fullerton c. Bannerman

d. Collin Maucaulay e. Answer not known

6bd YRS Ll DiFSTH 1783-60 uUTehameom GNIFS CamlevLenwl HTddleoniT?
a. alevelwid el b. alevelwid LeLeVITL 6oT C. umeTGLD6sT

d. sreler GsstGev e. alewL Gz fuwalsvemsv

Choose the correctly matched pairs:

(1) Rajaji formed his ministry -1939

(2) Vedaranyam Sathyagragha -1930

(3) Reorganised educational system - 1958

(4) C.R. Formula - 1944

a. (1) and (3) b. (1) and (2) c. (2) and (4)
d. (3) and (4) e. Answer not known

60 | PageAPPOLO STUDY CENTRE PH: 044 - 24339436, 42867555, 9840226187



177.

178.

179.

SpsbaTemiLeTeuBmIeT Fhwmer QUTHhGHIHIBMmend GCHThHoHHHH D

(1) Byreredl SIEMIDEFTeneUemUL - 1939
SADDSHS SwiH
(2) Geugnyewiu FHHWTHTHLD - 1930
(3) 1w Fyemioli] Hevall(Lpenm - 1958
4) d.oyt umfiapeor (SHLLID) - 1944
a. (1) wpmio (3) b. (1) b (2) c. (2) wpmid (4)
d. (3) wBmIb (4) e. alenL Gz flwealsvenso

Which of the following about Kamaraj are true?
i) He was arrested under Section 74 of Salt Act
ii) ~ He was released on March 12, 1931

iii) ~ He came to be closely associated with Rajaji during the election of 1926.

o~~~

a. (i) only b. (ii) and (iii) c. (i) and (ii)

d. (i) and (iii) e. Answer not known

Ledeu(heuasiouBmled 6hd SnMBBIS6eNT STOFTeT UBBEF &ilwTereneu?

(i) ot o 1y FiL fley 74-681 Sp mdpFH GFUILLILIL L.

(i) ot wITEF 12, 19310 SLeWB alBHmev OFuUILILILL L.

(iii) oweuT 19260  suemih  CHiTHedled JrTRIUL T OBBHBLTE  BEMeNIHSI
GwedUL (B GUbHSITI.

a. (i) wL@w b. (ii) @b (iii) c. (i) wmpub (ii)

d. (i) wpmiw (iii) e. alowL OFfuweisdeneo

Assertion [A]:Extremism arose along with the Swadeshi Movement in Tamil
Nadu.

Reason [R]: The leaders of the Swadeshi Movement became Leaders of the
People, whose speeches and writings aroused the masses.

a. [A] is true but [R] is false

b. Both [A] and [R] are true; and [R] is the correct explanation of [A]

c. Both [A] and [R] are true; but [R] is not the correct explanation of [A]

d. [A] is false, [R] is true

e. Answer not known

aupsseo [Al:  F6sd BuissSaiar  FHOWEEHH  FalTTHUPD  HeWe
FHTHBLIF|.

asmewib [R]:  56sd) Buibs HMeLAITHET 1DHEH6T HE6LMTHETS OMHIEIT, E6uT6r 6o
Gu&ald 61RHBHID WHBMmeN I(WFFULBEF QFUISHSI.

a. [A] &M, eyemed [R] sHeum

b. [A] wmmibd [R] af; wimibd [R], [A] elierer gfwmer ellendasid

c. [A] w@mid [R] &M; eyenmed [R], [A] elBarer aflwner alendsd 6060

d. [A] seum [R] &

e. alewL OFflwealedensv

Which of the following statement about Thillaiyadi Valliammai are correct?

(i) She participated in the protest against the policy of Apartheid in South
Africa at the age of 16

(i)  She worked with Gandhi in his early years

(iii)  She died during the anti-apartheid agitation
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180.

181.

a. (i) is correct b. (i), (ii) and (iii) are correct

c. (i) and (ii) are only correct d. (ii) and (iii) are only correct

e. Answer not known

Hlevemeowlmy eueiTaMwbentd LMK FAWTET FnBenBd FnBIk.

(i) e giifldaraled el UTGUTLIYBE aggTer GUIITLL S0 Heigl 16
QUL LIMIOHBSHSH6T

(i) BMHACWTE SLJLLUSTSSH Goueney OFuWiIGHeu

(iii) @emt UTGUTLIYBE e1HITE BLbHS CuIITLLSHHCCW BmbHa Gumeneui

a. (i) everugl & b. (i), (ii) wmb (iii) &
c. (i) wmmid (ii) w G &l d. (ii) wmmb (iii) i Gw &
e. alewL OFflweaisdensv

Which are the correct statements about Jeevanandam?

(i) Jeevanadam founded an ashram Unmai Vilakka Nilayam

(if) He did not participate in the temple entry struggle at Susindram
(iii) Jeevanadam did not establish Gandhi ashram in Siruvayal

(iv) He was involved in Vaikkom Satyagraha

a. (i) and (iv) only b. (iii) and (iv) only c. (ii) and (iii) only
d. (i) and (iv) only e. Answer not known
SSeumenhaHLd @gﬂg)g) SHBeUe0H6i60 Fiflwimereney

(i) Bourerbzd “o emiend alends Heneolibd” eeiid SuFTwHms CHTBBIaTSSHTT
(i) Bam &FfHATSS0 HOLOUBB Caruled HIMWe GCUITLLSHH6D  BH6eVbHS
QIO

Baunahld SMHH AFT0WHMS FpieuTweded Hipieualeoemev

T meudbsd GuIPTL L SHgHled mFHULLTT

(D)
&
3

—~
[
<
A\./\_/

a. (i) wBpd (ii) wr G b. (iii) w@p (iv) wI G0
c. (i) wmpnd (iii) w GEW d. (i) wBpw (iv) W GO
e. alewL Gaflweaisenso

Consider the following

Assertion (A):Pulithevar tried to get the support of Hyder Ali and the French.
Reason (R): Hyder Ali could not help Pulithevar as he was already in a serious
conflict with the Marathas.

a. Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

b. Both (A) and (R) are wrong

c. Both (A) and (R) are correct and (R) is the correct explanation of (A)

d. (A) is wrong and (R) is correct

e. Answer not known

LevTeu(heueasTeuBens U1,

o (A):  yalsGmpeut, emamsT oed wBEId GTLT Gurisefed FHUL(BS OLMB
(LPUIGHTBTIT.

smgewid (R):  wyrsgwiraGem( IBHIGa QLT Guiirserien FHUL B
O&BTEmIYHHHHTEL MABHT DieIWITed LeUHCHaUHdHE 2 Hauplpuimioed GUT6ITGI.

a. app (A) wppw smeod (R) @remin s aaland smyewd (R) appr (A)
dbamen Fhwmer aleNdbsd Be0en60

b. smpm (A) wppw smpeud (R) gudw @reiGGL SHeupreareme

c. ampm (A) wppw smeud (R) spfwemey oM, smemd R swpm (A) e
gilwuns alend@dHBal
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182.

183.

d. &=pm (A) seuptena smyewid (R) sflwrens
e. alewL OFflweaisdensv

Match the following

A. Kattabomman 1. Col. Bon Jour

B. Maruthu Brothers 2. Captain Campbell
C. Yusuf Khan 3. Colin Macaulay

D. Muthu Vadugar 4. Bannerman
A B C D

a. 2 3 1 4
b. 3 2 1 4
C. 2 4 1 3
d. 4 3 2 1
e. Answer not known
QuUT(HSHHIB
A. &1L Gumbloest 1. &iemed Lmedr GegmiT
B. wvmg s@asngyiser 2. GaliLer GsIblIGILIGD
C. walismet 3. &160a1 QsHaTG6
D. wsaieubst 4. uTEeTOLD6ST
A B C D
a 2 3 1 4
b. 3 2 1] 4
C. 2 4 1 3
d 4 3 2 1
e. alemL Oxflweaisoenev

Which of the following statements are true about Kattabomman?

(i) Jackson agreed to meet Kattabomman at Ramalinga Vilas
Ramanathapuram.

Kattabomman was hanged by the British

He was defeated at Kalakkadu Battle

He was a brother of Velu Nachiyar

A~~~
Pk ke o
< ke o
Pt e N
N— —

in

a. (iv) only correct b. (ii) and (iii) are correct

c. (iii) and (iv) are correct d. (i) and (ii) are correct

e. Answer not known

SPpSHTeILBLD &L L GUTDenaIl UBBIW $HH660H6T60 eTenel &iiliTerene?

(i) WTHFE  BITOBTSLTHH0 o 6en  @IToedmis  alleordled &L L GQUITLDLOGN 60T

FhHHH BFHBITT.
ii) &L Oumboest &mISGeoWITHENTeD  SHITdasleVlL UL LT
1 e BenbaTh Gumiled CHTBagSLILIL LT

o~~~
o e .
o

— —

iv BT GouguprFFwimfenr FC@aTHIT SeuT
a. (iv) wi G & b. (ii) wBpid (iii) & c. (iii) B (iv) &
d. (i) w@pib (ii) & e. allenL Gz flwalsdenev
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184.  Which of the following statements about the economic cause for South Indian
Rebellion are False?
(i) Taxes were raised upto 25% in Dindigul
(ii)  50% of Taxes were spent for the welfare of the people
(iif)  British got loans from Kings
(iv)  There was a famine in 1798
a. (i) and (ii) are True (iii) and (iv) are false
b. (iii) and (iv) are True (i) and (ii) are false
c. (i) and (iv) are True (ii) and (iii) are false
d. (ii) and (iii) are True (i) and (iv) are false
e. Answer not known
&6 QHTBHHLIULL OgaelbaHw Uil fesmear QUTHeMTHTT SHTTenimisbeisd 6% Heauml
IHILINS GTLRSIS.
(i) FHeamihebde06060 25% iFHsons eufl 2 WTHSUULL &I
(i) 50% eufl waseier BevanibE o LOWTSILGHSUILILL .
(iii)) Il egrT weeTaelLD SL6T GBI
(iv 179860 9mIBs sHewwowTen LehFD gBULL Gl
a. (i) wmmpnb (i) & (iii) wopid (iv) seupr  b. (iii) wBEID (iv) &f (1) wBpid (i) seum
c. (i) wmmid (iv) &M (ii) wBpw (iii) eum  d. (i) womw (iii) &M (i) wBpIw (iv) Seuml
e. alenL  Gafwalsvenev
185.  Which one of the statements is/are incorrect regarding Deeran Chinnamalai?
1. Deeran Chinnamalai participated in the Anglo Mysore war
2. He organised the soldiers of the Kongu region against the British
3. In 1802 he defeated by the Maxwell in the battle of Odanilai
4. He was hanged by British at Sankakiri
a. 1 is correct 2, 3, 4 are incorrect b.
c.1, 2, 4 are correct 3 is incorrect d.

e. Answer not known

SHemiL FaBmIBelled SHye Fletert OeMEVEOW LMW SHeUBTe FnMml 6157
1. Fyeir Heirenoemev SmISey en@T CuTTHeNed SH6vbHEHI OBTEIL T

2. GammEg BILG aljTemen RSCOUIHSG THITE QHHIS 6w SHSHTT
3. 180260 Godedbleusd e1aliB Helg Hyear deienoemev CHTBHISHSHTT
4. @eouT gmsdf CarlenLuled SHmealevll LT

a. 1 wi@mw &M 2, 3, 4 HeupTeig

b. 1, 2 sflwreng 3, 4 SHuBTeNs
C
d
e.

1, 2 are correct 3, 4 are incorrect
1, 2, 3 are correct 4 is incorrect

.1, 2, 3 gflwrengd 3 WL BH HeuBTEISH
.1, 2, 3 sflwmeng 4 B SHeupTeng
allenL  Gxfluwailsvensv

186.  Which one of the statement is not correct regarding the Trichy Proclamation

i. The Proclamation was published by Marudu Pandiyar

ii. It created a confidence among the people

iii. It did not infuse nationalism

iv. It condemned the political activities of Carnatic Nawabs and Muhammad
Ali

a.ionly b. ii only c. iii only d.ivonly  e. Answer not known
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BIpHHMIL BBl HHFF LgsLerd uBp Heupmer Snpml 617

(i) BUIsLeIDd WHSHILTEEIQUITH6MTe0 GeuailuiL il L g

(ii) AUITsL D 105HEHESG BOLIbmBMW gBLGSHH WS

(iii) UrsLend CxAw Fhsmeramul CeuelliLBGHHUSHTES Sienowlailsdamed

(iv) <oBat® BHeuml LBEID  (PpawH  SdulsT  DPFAwed L EUQSHMBHMET
BN SD HEWINYHBHI).

a. il (B b.iiw @b ciiiwi @G d.ivioleh e el Osfuwelsbenso

187.  Arrange the following events in the chronological order:
1. Death of Pulithevar
2. Death of Kuyili
3. Death of Kattabomman
4. Death of Maruthu brothers
a.2,3,1,4 b.1,2, 3,4 c.1,3,24
d.3,1,4,2 e. Answer not known
&6 OHTHHBLILL(BH6T6n HHLDeYHMmeT HTeveuTaFILIBSHIHIS.
1. yedgB8mheuiar SmLiL]
2. eWelwler @mriy
3. sl LUGumbweTelr EmLiL
4. mHFCHTHITHe EBLIL

a.2,3,1,4 b.1,2,3,4 c.1,3,24
d.3,1,4,2 e. alew OzxMNuiaisbensv
188.  Choose the correct pairs:
1. Ondiveeran - Maruthu Brothers
2. Gopala Nayak - Dindigul League
3. Kuyili - Pulithevar
4. Muthu Vaduga Nathar - Kalaiyarkovil Battle
a. 1 and 3 are correct b. 1 and 2 are correct c. 2 and 3 are correct
d. 2 and 4 are correct e. Answer not known
gflwmen &eneutdHemend (8g)n61| CFuIs.
1. eewngeaiyeot W(HSH FCHTHTH6N
2. GaMUTe [BTUIESIT - HWBHHH6D Fnl L eMLDLIL]
3. eulsd - uaﬁ]g;(%g)mrr
4. (1PpSHBHINBBHTHT srenermun Gasmuied Guimi
a. 1 wppw 3 g b 1 wppid 2 gl c. 2 wmpid 3 &
d. 2 wBmpb 4 & e. alewL  Gafuwealevemsv
189.  Match the following;:
A. Sivasubramanianar 1. Kayathar Fort
B. Kattabomman 2. Sangagiri Fort
C. Marudhu Brothers 3. Nagalapuram
D. Dheeran Chinnamalai 4. Thirupathur Fort
A B C D
a. 3 1 4 2
b. 3 4 1 2
C. 3 1 2 4
d. 4 1 3 2

e. Answer not known
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190.

191.
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QuUTHSHHIS:

A. Feouatiioewnilwiestit 1. swsHSTL CHmemL

B. &l L Gumbioes 2. ghsHN GamenL

C. wmal F8aTayiTHel 3. [BT&6OTYJLD

D. gyeir Flevtennoenev 4. Hmliusanm CsmenL
A B C D

a. 3 1 4 2

b. 3 4 1 2

C. 3 1 2 4

d. 4 1 3 2

e. allewL  Ggflualsvenso

Choose the correct statement:
i. The Palayakkarars system was in practice in the Kakatiya kingdom.

ii. Puli Thevar recaptured Nerkattumseval in 1764 after the death of Khan

Sahib.

iii. Yusuf khan was charged with treachery and hanged in 1764 for negotiating

with the Palayakkarars, without informing the company administration
iv. Ondiveeran led one of the army units of Kattabomman.
a. i, ii and iv are correct b. i, ii, and iii are correct
c. iii and iv are correct d. i and iv are correct
e. Answer not known
gilwmen smBenpd Caiey OFUILIeLD.
1. UTEETWSSTIT (WewB &STHSSHW CuITHler BL (PeBUIed SHHHHI.

ii. arer grduder @puUneller LLedsCseT OpBaLGL  CFeuemev  1764-&60

56T (LD 6MEBLILIMNSIGHITT.

iii.  sbeue BiTeUTeHHBSHS HBEU6D 961 BHTLOD UITeDeTUIS ST TG
Gu&aseunitdemsuied FHULLFHTeL WalsTer HICITd aaim @GBBL  &SHSILL G

1764 ®60 HTHE O LILIL L.

iv. emigaiyer sl LOumbwelesr  umLlilfleysellsd  @alewmsH — HemevenoGUIBMI

ULOIBL S GITT.
a. (i), (ii) s (iv) sypdweneu &l b. (i), (ii) Db (iii) sy&wieney &l
c. (iii) w@mid (iv) spPwenen & d. (i) wBpIb (iv) eydweneu &

Arrange the following in chronological order

1. Vellore Mutiny

2. Execution of Kattabomman

3. Palani conspiracy

4. Treaty of Pondicherry

a.1,2,3,4 b.4,3,2,1 c.2,3,4,1
d.4,2,3,1 e. Answer not known
SPEBMILaBenB HTev auflengliuBHSH el CHiIboHMm:

1. Geugunmy &H6v&HID

2. &L LOUTDemeT HToHa60(HEH60

3. uwel FHFHLLID

4. unewngFCFfl o L 6iILIgHmD

a.1,2,3,4 b.4,3,2,1 c.2,3,4,1
d.4,2,3,1 e. alowL O fualsemnen



192.

193.

194.

195.

Assertion (A):Through a letter correspondence to Hyder Ali Velunachiyar asked

5000 infantry and 5000 cavalry strength.

Reason (R): Velunachiyar conveyed her strong determination to fight the

English.

a. Both A and R are correct, but R is not the correct explanation of A.

b. Both A and R are wrong.

c. Both A and R are correct and R is the correct explanation of A

d. A is wrong and R is correct

e. Answer not known

Fmml A: Gougt mEIFFAWMT  ewamHT DUl b 5000 HmTeuT LML HEHD, 5000

GHOIULMLS@HD SDIIILD LIg HHLD 6I(LDSHIGITIT.

smgewid R: Geougy prFfwnm  sumdGeoowiCrnh  Guomgleudled  Salyons  Smlumss

CxefeyuBH 6.

a. a&pm A wpgd styewid R Grewibn oM eelaibd smyewid R apeop A gflwns
allen& &6 1606m6v.

b. a@m A wppd smeid R oudw @rewiGGL seuprearene

c. a&mpm A wBp s R @rewid &sfl smyewid R spenp A sflwns
allend @S Ba

d. apm A seapreig. smyewid R gflwmeng

e. alemL Gxflwalsvenev.

The Karachi Session in 1931 of the Indian National Congress was presided over

by
a. Abul Kalam Azad b. Vallabai Patel c. Jawaharlal Nehru
d. Sarojini e. Answer not known

1931 b e SIT&FSAuled  BLOUBB @bHw Capdlw  smmdyerd OTHTLIQED
SHEMELENLD  EUBHSHEUT.

a. I HEUTD HYIFTH b. eausvevLimut 1" GL6d C. 23auamTeumed GB(H

d. #Gyrege e. alewL OFHflwalsveney

‘Indian Society of Oriental Art” was founded by

a. Nihar Ranjan Roy b. Narendra Mohan Mukherjee

c. Abanindranath Tagore d. Barindra Kumar Ghosh

e. Answer not known

eteupualTHelled  wimt  OFHTeienowTel  HMeVSEHSITEH  BhHU  FhsHHenet
UGS weu

a. HemrT Jehaer gmul b. BCypdy Gurser (sl

C. SIeNbAHIBETS SHTIall d. ufpdy @ Csra

e. alemL OFfluwalsoensv

Who was called by Valentine Chirol as the ‘Father of Indian Unrest’?

a. Lala Lajpat Rai b. Aurobindo Ghosh c. Bipin Chandra Pal

d. Bal Gangadhar Tilak  e. Answer not Known

GouevaiiewL et FGgmed  eiEiLeUgTED  ‘@hHw  SenEFuledr  HHwD'  eleIml
SIWIPSHSUILL L 6uT  wimir?

a. eumeLT 6uERLIE MUl b. apalbs Bzrad c. et sHHT LMD

d. utev BRIBTHY Hevd e. alowL Oafweailsdensv
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196.

197.

198.

199.

200.

Find the difference in C.I and S.I for P = 8000, r = 5% per annum and n = 3 years
a. Rs. 20/- b. Rs. 45/ - c.Rs. 61/-

d. Rs.50/- e. Answer not known

Faflaul 19bGHID Gl B Ul lpdb@Gh @l Cuiuleten albHungsHmabd @rewnia. P = ap. 8000,
WG ey aldsb r = 5%, n =3 oy emi el

a. . 20/- b. Rs. 45/- c.Rs. 61/-

d. em. 50/ - e. alemL OxfNweaisbensv

Ifa:b=2:3andc:d=4:7thena:dis

a.8:21 b.12:21 c.21:8 d.21:12 e. Answer not known
a:b=2:3wng c:d=4:7ealed a:d=
a.8:21 b.12:21 c.21:8 d.21:12 e. alewL OxfNweaisoensv

An aircraft can accommodate 280 people in 2 trips. Then the number of trips
required for 1400 people is

a. 8 b. 10 c.9 d.12 e. Answer not known

280 pUTHET @b  elTarihHed 2 (pdB  Uwewld  OFUISlIBerT,  eleflled
Slelaloreaibadled 1400 HUTH6T Lwed GEFuIuD (LpenBmaei

a. 8 b. 10 c.9 d.12 e. alawL O MNuwiaisoensv

Find the simple interest Rs. 3,000 at 6% % per annum for the period from 4th Feb

2005 to 18th April 2005.
a. Rs. 36.50 b. Rs. 37.50 c. Rs. 38.50
d. Rs. 39.50 e. Answer not known

9IF60 @h. 3,000 &g 6Y4 % eumpL ey einsHBEG 4 igeufl 2005 wpHed 18
gLged 2005 euemy 2 66N &HTeLHH60 HeWL G Heleul g SHTewIsb.

a. Rs. 36.50 b. Rs. 37.50 c. Rs. 38.50

d. Rs. 39.50 e. alenL  Gafuwealsdenso

Find the compound interest on Rs. 10,000 at 8% p.a. for 2% years, interest

compounded yearly.

a. Rs. 2363.84 b. Rs. 2633.48 c. Rs. 4600.44

d. Rs. 5300 e. Answer not known

. 10,000 B3 8% e auliguiled, eTHHEBTH (WeB QI lgdh HenrddL LIL{HID

(pemBuiled 2% WIBHEDHDHE, HMLHGHID Fnl B QI IgeNUISH BHT6wISb.

a. . 2363.84 b. . 2633.48 c. ap. 4600.44
d. em. 5300 e. el GaMualevemev
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UMP & en & ulledr VL SFIWIGLD
werfls FUNSTWSHMEGS G MeooTL MM MI6USI -

ShHeng Qulwmy

72 | PageAPPOLO STUDY CENTRE PH: 044 - 24339436, 42867555, 9840226187



